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Welcome: The Beginning

Welcome You All to the Korean Grammar Guide!

This blog was first created in 2006 as an experiment to help people who would like to learn Korean by
providing some basic grammar lessons on Korean.

Over the years, I was able to put up more and more lessons, and as of now, in January 2011, there are more
than 60 lessons on Korean grammar in this blog.

The principles in writing these lessons have been that I remain intentional about making them as easy to
understand and readily applicable in daily life as I can, and comprehensive enough to cover major points of
Korean grammar which include both the Written and Spoken forms.

Now, what do I mean by written and spoken forms?

In Korean, the verb endings change depending on whether the language is used in writing or speech.

Note: In Korean grammar, the verbs come at the end of a sentence. For more on the sentence order, please
read Sentence Order.

For example, "Lt= SF 1 0ff ZECH" which means "T went to school" is a written form, and "Lt= S W 0l 2t
(1" is a spoken form.

Pl Off 2ECH =1 went to school (written form as in writing, books, diary and newspaper)
P Ol 2F 01 =1 went to school (spoken form as in conversations, movies and dramas)

Jon _]0Il

As you can see, the ending of a verb changes from 2t Ct to 2t 01, both of which mean "went".

Therefore you'd write in one way but speak in a slightly different way. But don't be too alarmed at the
difference, as there are simple patterns to it, and you'll get to learn them along the way.

It is also important to learn the differences in degrees of formalities in the Korean language.
There are three major types in the degrees of formality:

e Informal
e Polite
e Honorific

In expressing the politeness in the speech, Korean differs from English in that the verb endings change
depending on the age and rank of the person being addressed to and the social setting one finds oneself in. For
example, when I'm asked, "Where are you going?" I might answer, "I'm going to school" in the following
ways:

e SF 1) J} - [Informal, to people of the same age as me or younger than me, especially among close
friends]

e 1) JIR - [Polite, to people older than me, and in formal social situations]

Fu Jt= S & LICH - [Honorific, this is rarely used in normal conversations. I would say this type of

[ )
_jOII



speaking is only found in very formal settings such as on the news or in the army.]

You would use the polite form even when the person you're speaking to is of the same age as you or younger
than you if you're not very close to the person and/or you're in a formal social setting. I'd say it's best to stick
to the polite form first and then use the informal form later as you gain more understanding of the Korean
language.

The major mark of the division is probably the age. The polite language is used to people above one's age and
informal language to people equal to and below one's age.

However, generally, the polite language is generally used in many social situations and the informal language
is usually used among close friends.

I am trying to lay out some basics to the language of Korean. However it'd be good at this point to dive into
the lessons and learn them for yourself.

You can start reading the grammar guide from the top to bottom in the order as it's designed to guide you from
the basics to intermediate and advanced grammar.

Before you go, here is a bit of history of 8= (Hangeul, the Korean alphabet):

Korean is the official language of Korea, both North and South. There are around 78 million people who
speak Korean around the world. 1

©F= (the Korean alphabet) was invented by Sejong the Great in the 15th century. Before that time, people
used Hanja (the equivalent of the Chinese characters) which was not only difficult to learn but was also

considerably different to the Korean grammar and sentence order. [2]

Sh= is a phonetic writing system which means that the words correspond to pronunciation.
The English alphabet is phonetic whereas the Chinese characters are not.
If you learn the English alphabet, you can read an English writing fairly well although you may not

understand the meaning.

Korean is even more phonetic than that of English and many other languages, in that each consonant and
vowel in Korean mostly have only one sound.

For example,

[ L:n

e | =a(asin car and mama, short sound)
+ = Lt [na] (which means "I" as in "I" am Luke)

Following the guide down the column on the right-hand of the page, we're now moving onto learning the
sounds of the consonants and vowels of &t =.

You'll learn to write and pronounce each of these consonants and vowels, and how to form a character in this



next lesson.
Keep on reading!
I hope you enjoy this journey of learning a new language!

I think it's always exciting to learn a new language! ;D

Luke

References

[1] Wikipedia: Korean language, http://en.wikipedia.org/wiki/Korean language#History, accessed Jan 2011.
[2] Wikipedia: Sejong the Great, http://en.wikipedia.org/wiki/Sejong the Great#Hangul, accessed Jan 2011.




The Korean Alphabet

Hangeul or §t2 (the Korean alphabet) literally means "the Korean writing."

In 8t=, the Korean alphabet, consists of 14 consonants and 10 vowels.

e Cosonants; 'LCc20H AOCOXXIAEDTS
e Vowels: F F {94 +urr—

In addition, there are 5 double consonants and 11 double vowels.
e Double consonants: 11 CC bH A XX
e Double vowels: H H 4l 4 Lkl ]+ #l -+ -]

Additionally, there are 11 final double consonants.

e Final double consonants: A LX L& 21 20 28 2A 2E 21 25 HA

You will get to learn these basic consonants and vowels, learning how to read, write and pronounce.

For the purpose of learning the alphabet, I highly recommend the following resources to help you with
familiarizing yourself with the consonants and vowels in 8t =.

e [ earn Hangeul: Korean Wiki Project
e [ earn to read and write Hangeul by TTMIK

Click on the alphabet to listen to their corresponding pronunciations.

Xt 2 [Consonants]

=g

“=n

==d

2 =], r (2 is a sound somewhere between | and r)
O =m

==b

A=s

© ="no sound" when used as a first consonant, "ng" when used as a final consonant.
=]

==ch

==k

==t

==p

S=h

2 S[Vowels]



I
)

)

Il
o (@)
585
©)

— 114 A E | R —
I I
~2g =g

A X} S [Double consonants]

1 = gg Click on the link to hear the difference between the sounds of 7, ™ and =.
cc = dd Note the difference in sounds; =, cc and .

o8 = bb Note the difference in sounds; =, 88 and .

= ss Note the difference in sounds; A and M

= jj Note the difference in sounds; =, #x and =

N 2 S [Double Vowels]

Il
o< @
o

ae (rarely used)

[
<
o

o

o
Qo
£ 8

we (rarely used)

U [ [ e ===
I I
.= < =
= o
(¢}

[
=

e How to form a character

There are two ways of making a character, using the consonants and vowels as building blocks.

1. Initial consonant + Vowel
2. Initial consonant + Vowel + Final consonant

1. Examples

="+t =ga
=+ 1 =neo
=c + L =do
=2+ T =lu/ru
=0 + —=meu

104U H &



2. Examples
e 2f="1+ |+ 1 =gag
e H=v 4+ { + v =neon
e ES=c + L+ A=dod
e E=2+—+ 2 =leul/reul
e M==x+ || + o =jaeng

Characters with final consonants of 7, ™ and =, all sound the same. Thus

e Hl==+ | =bi

the same.

For example,

2 of

s =, M

Now, below is a list of the final consonants and their respective sounds.

(=13

/m/= ="

H/Hd/I = -
C/E/AM/R|/X]|&S =C
L= L

=2==

O= 0

o=o0o

For example,

For a more detailed explanation and audio files, click here.

Al [ Al = fishing
F A [ ] = kitchen
2 [&] = front

M [MI 2] = seed
= [€] = day

2F DF
=, M

Their final consonants all sound the same. Click on the links to hear.

and 2t will sound exactly

When the initial consonant of second and/or third characters is ©, for example, = 0| and 2+t 0|, the sound
of the final consonant of each letter is pronounced with the next vowel. Because © has no sound, = 0] is
pronounced as = 2| and 2F2H 0] as OtLEJ|. These are just made-up words to show you how these work.

For more examples on this pronunciation, click on the link.

&

=]

=

Sol[=2l]
DFOLO|[OHLF D]

&! [Final double consonants]

There are also 11 additional final double consonants. Their sounds are as follows. As you can see, the first



consonant of the double consonants is pronounced. (except 21 = 7,20 = © and 2z = &) [ do not
recommend that you learn these exhaustively right away because that is a hard work and I rarely employed
them in my grammar lessons anyway. So it would be better to come back to these when you come across
them from time to time.

e A= "
e LX -
e L = L
e 21 ="
e 0 =0
e cH =2
[ ] ==
e cCE=2
e 2 = Yo
e 2 =2
e HA=d
Eg.
&6 [4F] = amount
SECH [OHIH = sit
& Ct [CHEH = many
I CH [ ] = read
&t Ct [& [ = boil
51 Ct [ ] = spacious
2| R [2/ =] = a single way
SHCH = = Lick
= Ch [ ] = recite (a poem)
21 Ct [ EF] = lose (a thing)
al [&] = price

Excellent pronunciation lessons by Sogang Unversity

Source: http://korean.sogang.ac.kr/

For writing practices,

o Consonants
e Vowels
e Consonants + Vowels

Source: Slow but STEADY: http://cyjn.com/165




Sentence Order

In regards to the order of a sentence, there are four basic types in Korean. These are:
S+N
S+V

S+A
S+O0+V

[
[
L]
[
* S = subject, N = noun, A = adjective, O = object and V = verb.

The tense of a sentence is determined by the last part of a sentence, namely, by a noun, verb or adjective.

In Korean, adjectives function like verbs in that they can be converted to different forms to determine the
tense of a sentence.

For example,

¢ In English, the past tense of "go" is "went."
¢ In Korean, the past tense of "J}CH" (gada, go) is "4 CH" (gatta, went).

The verbs function in the same way in English and Korean.

However, in the case of adjectives, the past tense of "good" in English is not "gooded" but it is written, "was
good."
Contrary to this, in Korean, "Z Ct" (jota, good) has a past tense form of "= U Ct

n

(joatta, was good).
Compare:

¢ In English, "good" (present) — "was good" (past)
e In Korean, "ZC}" (present) — "Z AU CH" (past)

Therefore, the adjectives in Korean function like verbs in that they can be converted to a past tense or future
tense, or any other tense forms.

This conversion of a verb(or adjective) to its past, future, present continuous or past continuous tense forms is
called a verb (or adjective) "conjugation."

Before proceeding to the explanation section below, I recommend that you read the "particles" alongside this
post.

To understand Korean grammar, it is crucial that you become familiar with the concept of a distinct part of
speech called, "particles."

Particles are function words that indicate what the subject or object is in a sentence.

For example,



e =/2 is a topic particle
e Jt/0l is a identifier particle
e £/ is an object particle

For more information and explanation on particles, please refer to (Particles - =, &=, =, Jt, 0f]).

Now, let's have a look at the four main types of Korean sentences.

Note: S = Subject, N = Noun, V = Verb, A = Adjective, O = Object

1.S+N
o Lt= St O|CH=1am a student
o CIAtE &M O|CH=Lisa is a teacher
o HEZ = O| AU L = Andrew was a doctor
e M= SSM0|0l R =1 am a middle school student [polite spoken form]

For more explanations on the S + N pattern, please read Nouns - Present, Past.

Lh=1

St M = student

2l Al = Lisa

& A=l = teacher
O & = = Andrew
Ol Al = doctor

X =1 (polite)
=St = 3 middle school student

2.S+V
o =2 Y ell} = Ju-young runs [written form)]
e == 2R = Ju-young runs [polite spoken form]
o =F = &l XtH £ &lCt = Ju-young vigorously runs

*An adverb comes before a verb.

=3 = Ju-Young (a Korean male name)
&elCh=run

& 2 = run [spoken form]

&4 R = run [polite spoken form)]

&l Xt Al = vigorously

For more information and explanations on verbs, please read Verbs - Present, Past and Verbs - Polite [Present,

Past].

3.S+A



e ]= ALt =He is big
e 1= &Lt = She is small
o OHZ2 (il B8 C} = Anne is pretty [written form]
o OHE2 H I (it 2 = Anne is really pretty [polite spoken form]
e &0l OFS & Ch = The mountain is beautiful
o M It B ZCt = The weather is very good
_1=he
=L =big
14 =she
2 CF = small
oH = Anne

Y = really, very
il 88 Ct = pretty

A= mountain

Ot S € Ct = beautiful
=f Ml = weather

Z Lt = good

For more information and explanations on adjectives, please read, Adjectives - Present, Past, Adjectives -
Polite [Present, Past] and Adjectives - Connective.

4.S+0+V
o L= AtHE HRUCH =1 ate an apple.
o X4 2 == Ot&ICh = Ji-sung drinks water.
e MS0| =i E £ ECt = The birds are singing songs.
e OtLt= CHEHE CHel T = Anna attends college (university) [written form]
. OF L= (&t 2 CHH 2 = Anna attends college (university) [spoken form]
e J35l= HAM BR0 2= & ULt = Young-hee planted a flower in the garden yesterday.

*Notice that the time( 2! &) and place(& & 0il) are inserted between S and O.

Lh=1
AtZb = apple
HACH = ate
= = water
OtAICH = drink
M = a bird
M E = birds
= el = song
£ 2 =sing
CtLICt = attend [written form]
CtH R = attend [polite spoken form)]
O Al = yesterday
& & = garden
= flower
t = plant (verb)

0z H'b



In addition, unlike English, it is quite common to leave out the subject in a sentence in Korean. When the
subject is known by the readers or speakers, it is often left out. Therefore, depending on a situation or
context, it is OK to write or speak without beginning the sentence with a subject.

A subject may not be used in a sentence if it is known who or what the subject is. So, the sentences below are
also correct and it is common in spoken Korean (conversations).

FA 0| Ct = (am/is) a student
& Ol Ct = (am/is) a teacher
P?"i Ct = was a doctor
StAH 0| 0l 2 = (am/is) a middle school student

o AH
A

oy 1o r> J0|'

e o o o
Joh

L
|

| ns

=ru
& 2 L} = vigorously ran

gar o

>

Ct
Al

. = (am/is/are) big
o X[} = (am/is/are) small
o A =0t = (am/is/are) really good [spoken form)]

MBP £ HRUL} = ate an apple
= 0td 01 drank water [spoken form)]
L EH £ =3 (] = sang songs [spoken form]
Al 2 Z AU L = planted a flower yesterday [polite spoken form]

For more help with the particles, please refer to the following posts:

Particles - JHl/ 0l Al/StE
Particles - 2 2/2
Particles - 0l M, JtX|
Particles - 9t [only]
Possessive - 2




Particles - =, J}

This particles section is divided into two parts. The first part is on Topic and Identifier particles [=, J}], and
the second part, here, is on the remaining particles, [ =, £, 0ll].

In these two posts, we're going to learn about 5 common particles used in a sentence in Korean. These are:

e =/2 - Topic particle 1 Subject particles
e J}/0| - Identifier particle -

o & - Additive particle

e £E/2 - Object particle

o 0Ol - Time/place particle

Note: I have grouped =/2 and J}/0| into one category, the 'Subject particles.' The explanations are given
below in the 'Subject Particles' section.

Particles are functional words that do not have any meaning in themselves. They are like helpers in that they
are attached to the end of nouns to indicate what that noun is and how it functions in a sentence.

For example,
o L= SHA0ICH=1am a student

=, the topic particle, is attached to the end of Lt, which means the pronoun "I", to show that the topic is
about "I" or the subject is "I".

Here is another example,
o LIS StMO|ICH=1am a student, too.

In this sentence, &, the additive particle, is attached to Lt to show that in addition to a person or people who
are students, "I", too, am a student.

Now, let us go through each of these particles.

=/2 [Topic Particle]

The first particle, we'll learn, is =/2, the topic particle. =/& is used for a subject or topic of a sentence. =
is used for nouns without a final consonant, and = for nouns with a final consonant.

Let me explain,

o L =
o ALEE = A person is
L} consists of “+

e U =n (an initial consonant)
e | =a(avowel)

As you can see, L} is a word without a final consonant, therefore = is attached to it.



On the other hand, At & which means 'a person' has & as a final character, and
e consists of 2+ | +o

e =2 =r] (an initial consonant)
e | =a(avowel)
e © =m (a final consonant)

AFE is a word with a final consonant. Therefore, = is attached to it.

The reason for these two different types of the topic particle, =/2, is that for words with a final consonant, it
is easier to pronounce them with 2 rather =.
Compare these two pronunciations,

e A= =sa-ram-nun
e AtEE = sa-ram-un — sa-ra-mun [Al 2t =]

As you can see, At & = is more rigid and awkward to pronounce, whereas At & 2 is more fluid and easy to
pronounce. A& 2t 2 is actually pronounced At 2t =. The final consonant of &, which is &, is transferred to
2 to make it sound 2.

(AHE 2 sounds a bit like "Sarah Moon" whereas Al & &= may sound like "Saram Noon".)
Listen to the pronunciations for yourselves in the Google Translate.

The following are example sentences using =/, the topic particle.

o L= & 0[CH=1am a student

e 1= & EGtCH=He is kind

e 0|0 & HEO|C=This is a pencil

e Ot=& =Lt = The sky is high

e 1= S F &t = She studies
&2 ULt = John went

o == HRACH= Young-su ate

Lt = I (pronoun)
St M = a student
_1=he

&I & 3HCH = kind
0l = this

& = pencil

ot = = sky

=} = high

14 =she

S 2 OtCH = study
Z = John
ItCH=go

& 2= = Young-su (a male name)
HCh = eat



Use Google Translate to listen the pronunciations of these words.

Note: There are no articles in the parts of speech in Korean. "A, an and the" which are used to identify and
specify a noun in English and other languages are absent in Korean grammar.

Jt/0| [Identifier Particle]

Jt/01 is used similarly as &=/2 in that they indicate a subject but J}/0| is used when it is necessary to
identify the person or thing that is talked about in a sentence.

For example,
o LI= 4LCF =1 bought
o LHJt XLCH=Tbought

Note: Lt is changed to LH when it is used before Jt.

Both of these two sentences mean "I bought" but LH It A Ch puts more emphasis on the subject of the
sentence, "I".

In the sentence, Li It AFCH, it is more concerned about 'whe' bought rather than 'what' I did.

On the other hand, L} = At C}, is more concerned about 'what' I did.

o LHJF MCH =1 bought [It wasn't anyone else but I who bought]
o Lt= ML =1bought [ bought rather than doing something else]

It is similar to the way in English where a person stresses a certain word to give it more emphasis or
importance.

For example,

e Who bought a new t-shirt?
o LI 2t01 =T bought it.

Note: It is incorrect to say, L= M 01, because the person is asking about who bought a new t-shirt rather
than asking about what they did.

e What did you do in the park?
o L= Bt =T slept (I took a nap)

Note: The person may be asking to several people about what they did in the park. One person might say they
took a stroll while another person may have had lunch there. But as for me, what I did was 'sleeping'.
Therefore,

o Lt= MO =Tslept



It is wrong to say LH It SO in this case because the person is not asking about who slept but what they did
in the park. If the person asked me, 'Who slept in the park?', I would answer, LH Ot Tt or Or2JF Tt
(Mark slept).

The identifier particle, 7+/0l, identifies the subject of a sentence. J}+/0| is concerned about who did the things
asked.

Like the =/2 example above, J} is used for words without a final consonant and O| for words with a final
consonant.

Here are example sentences:

o LHJt O CH= 1 drank (It wasn't anyone else but me)
o SOl HRAUALE = Younger brother/sister ate (It wasn't someone else but them)

e OIX| Dt 2Lt = Min-ji came (It wasn't some other person but Min-ji)
o OFEL[J} U Ch = Anthony went (It wasn't some other person but Anthony)

e X 210| 8t 0| Of = That is the Han River
o YO0l = EP = The building is high

o S 0| & Ct = The park is large/spacious
OtAICH = drink
S &4 = younger brother/sister
o ALt = eat
81 Xl = Min-ji (a female name)
2Lt = come
OtEL| = Anthony
JtCH=go
X2 = that
&h2Z} = the Han River (in Seoul)
2 & = a building
= C} = high
3 & = apark

g Ct = spacious, large

Use Google Translate to listen the pronunciations of these words.

Subject Particles [=/2 and J}/0l]

=/2 and J}/0| both are used for the subject of a sentence but =/2 introduces a topic or a subject whereas
J4/01 identifies a subject.

In addition to their differences already explored above, here is another big difference between the two
particles.

The topic particle, =/&, is used in cases when we make a general or factual statement whereas J+/0] is not.



For example,

e X|Et= W= Ct = A cheetah is fast
e XIEt= 2|t = A cheetah is slow (This would be a wrong statement)

However, if you visited a zoo and saw a cheetah who seems to move very slowly, you might say,

o X|EtJ} &= 2| Ct = (That) cheetah is slow

So the identifier particle, 7t/0[, indicates a certain person or thing that the speaker and listener know or are
aware of. In this case, it would be that cheetah in the zoo.

Here is another example,

o HtCt= FZ2CL} = The sea is blue
o HtCt= 2L = The sea is black (In general, this is a wrong statement. )

But say, you saw the sea at night and you may exclaim,

o HICEHIF DFLCH = The sea is black!

The sea in this sentence is identified as a particular sea at night, and both the speaker and listener know which
sea is being talked about. This is not a general statement. Therefore the identifier particle, 7+/01, is used in
this case.

Of course, HtCHIF F 2Lt is also perfectly acceptable. However, the difference is that the sea in this
sentence is also a particular sea that is known by both the speaker and the listener.

e HtCt= F 2L} = The sea is blue (A general statement)

o HICHIF £ 2L} = The sea is blue (The sea is identified and known by the speaker and listener)
It's similar to the way articles are used in English.
For example,

e Anapple isred = Atdt= B ZCH (A general or factual statement about an apple)

e The apple is red = At Jt 8 2L} (A particular apple that the speaker identifies and indicates to the
listener)

Particles - =, E. 0l

This is the second part of the particles section on [=, Jt, &, &€, Ol]. This post is on the remaining [, £,
0il] particles. Please read the first part on [&=, Jt], the Subject particles, if you missed it.

& [Additive Particle]



The additive particle, &, is similar to subject particles =/2 and J}/0| in that it is used for a subject (or
topic). However, &= adds the meaning of 'too' or 'also' to a subject.

Here are example sentences:

t =1 am a student, too
} = He is kind, too

™ & 0| Ct = This is a pencil, too
= C} = The sky is high, too

£ 8tCH = She studies, too
=0 = John went, too
o Fx=T HULE= Young-su ate, too

As a further explanation, please have a look at the following example:

2 & 0| ALt = David was a king
=2 2% 20| ALCH= Solomon was a king, too

& always refers to the subject. For example, & 2= & & 0| %I Ct describes Solomon in terms of the fact that
he was a king, too. Not only was David a king but Solomon was also a king.

Ct=! = David
& = aking
=2 &2 = Solomon

Here is another example,

e ML= LR O = Jenny went outside
e 22l % LIt = Yuri went outside, too

MIL| = Jenny
LtJFCEH = go outside, leave
2l = Yuri

As you can see, & is used when one wants talk about the same quality or description about a different
subject.

When we want to talk about additive qualities and/or descriptions about the same subject, 5 8t is used.

For example,

o Ut 2 LXIJIALH=David was a shepherd.
o (IR 2 L&t 0| ACH= David was also a king.

The two sentences above both describe a certain thing about the same subject, L, and 5 8t refers to the
rest of the sentence rather than the subject. &£ 8F & 0] 2 Ct describes a fact that David "was also a king."



Therefore David was both a shepherd and king.
& St is used to give an additive quality or description about the same subject.
Here is one more example,

e ML= U4 i—.“o” OICt= nny is a college (university) student

e ML= st < A4 0|Ct = Jenny is also a music teacher

Jenny is both a college student and music teacher.

Note: In spoken Korean, & is usually used instead of & 8t

e HILI= CHE 0| OF = Jenny is a college (university) student
e ML= &£ =2 84 0|0F=Jenny is also a music teacher

£/2 [Object Particle]
The object particle, £/=, is attached to an object which the verb describes.

Here are example sentences:

L= 2tH = HULH =1 ate noodles [Literally, noodles= ate]
M= 2 ALt = read a book
=22t E 0S8 L = drank coke
TVE &Lt = watched TV
22 2 AUCH= wore clothes
& =2 Xl ULt = built a house
jﬂo' = 0= ACH = made a cake

Lh=1

2t ™ = noodles
HCt = eat

2 = a book

21 Ch =read
=2} = coke

Ot Al Ct = drink
2L} = see, watch

2 = clothes
2 Ct = wear
& = house

X CH=build

un ue o
I
[}
(@]
o
S,
(@]

0 X

r

The usage difference between £ and = is that = is used for nouns without a final consonant, and = for
nouns with a final consonant for the pronunciation's sake.



AMEZS B ALH=took a photo
LI E A ULt = planted a tree
= A CH = bought some bread
AHE B RULH=sold a car

2= AR L= crossed a river
Ctel £ Xl &L = passed a bridge
= HIE ML} = did homework

A&l = a photo

M Ch = take (a photo)

LIS = a tree

& Ct = plant (verb)

% = bread

AHCH = buy

Xt =acar

2L =sell

& =ariver

24 L4 Ct = cross (verb, motion)
Ctel = bridge

Kl L+Ch = pass (verb, motion)
= M| = homework

ofCh=do

Oll [Time/Place Particle]

The Time/Place Particle, 0il, is used for any words related to time and place. The 0| particle phrase is usually
placed at the beginning of a sentence after a subject.

St= 0l 24 Ct = Sam went to Korea [Sam, to Korea, went]
= 5& 0l &Ct = Jun-su came in May [Jun-su, in May, came]

5& = May
@ =come

Note: 12 is January, 2& is February and so on.

You can also make long sentences like the following examples:

o M =2 XA 10& IS0 8 =0/ 2tCH = Sam went to Korea last year in October during the autumn
season [Sam, last year, in October, in Autumn, to Korea, went]

e == 20008 (S0l &30l ZCH = Jun-su came to Australia in summer 2000. [Jun-su, in 2000,
in summer, to Australia, came]



XA = last year

10& = October

Jt 2 = autumn

2000E & = in the year 2000
04 & = summer

S == = Australia

Note: | is used for words both with or without a final consonant.

e SF1) (il = to school
o HZ0ll = to hospital

Please note also that when 0] is used as a Place Particle, it is usually used with 'go' and 'come' to indicate a
el

place to which you're going or coming, and Ol functions like 'to' in English. For example, = & 0l = to a park,
2 = 0il = to Britain and 3 & 0l = to the airport.

When you want to say you did something at a particular place 'for a certain period of time,' 0 A is used for
that location or place. In this case, the function of 0l A is similar to "in, at or on" in English. For example,

o SAUA =Lt = played (had fun) at the park [At the park, (we) played (had fun)]
o =20 Al XI'RUCt = stayed in Britain [In Britain, (I) stayed]
o S 0IA JICHACH= waited at the airport [At the airport, (we) waited]

=& = apark

= C = play, have fun
2 = = Britain
XILACH = stay

=& = airport
JICrelC = wait

However, in the case of 'was', you can use 0| instead of M| A for some strange reason I do not know. The
following two sentences mean exactly the same.

o H=20 Al URALH=1 was in Britain
o A=20 U/UCH =1 was in Britain

But in the case of other verbs, 0fl is not allowed.

=] = O}

;

St =

Here are a few more examples:

e AlZ 0l 24Ct = went to a countryside
o XA HR & E2CH= A friend of mine came (to visit me) to hospital
o &0l UAPLCH= was home



Cy
o}
0

P
Q@

Ol M Z2lE =RULt = listen to a lecture at the university

MEZ=0] =01 SR 0 2Lt = A lot of people came to the theme park

Ol Alel 22 S UL =1 ate cereal in the morning [In the morning, I ate cereal]

2AI01 Bl Ot LHRA C = It started raining at 2 o'clock in the afternoon [Liz. The rain fell]

ol 02 1o Jor

AlZ = countryside
JHCH=go
&l 71 = a friend

S & = a hospital
=

o —a ViSit
@ Lt =come
8t 2 @ L} = came to visit

& = home, house
UCH=be
!

F
& Ct = a lot, many
AHEr = a person
A& E = people (= is attached to a noun to make it plural)
= 0| 3& = a theme park
Ot& = morning
A2l 8 = cereal
9Lt = eat
Q@ = = afternoon, pm
2Al =2 o'clock (1Al is 1 o'clock, 7Al is 7 o'clock and so on)
Bl = rain
LH 2| Ct = fall down



This, It and That

In this lesson, we learn about some of the most common and useful words, "This, It and That.'
e This= 0|
o It=12
e That= M3

Example sentences

[Informal written form]

e 0|20 & HEOILCt = This is a pencil.
. 33&'8 22 20| Ch. =1t is a window.
e A& Z0|Ct = That is a flower.

[Polite written form]

o 0|X 2 HEALICH = This is a pencil.
e 1S EHEZLLICH =1t is a window.
1212 Z2L|C = That is a flower.

Note: For more information on the formality and the written and spoken forms, please read Nouns - Present,

Past.

0124, M 23 and 12! are mainly used in the written form. The equivalent spoken forms are 0|24, 121 and
M2,

Please note that O] 24, 124 and XM 21 are actually contracted forms of 0| A 2, M A 2 and 1 2.

e 0|2X=2 - 0|A
e 102 A
112 - MA

—

Here are the sentences in the spoken form.

[Informal spoken form]

e Ol HEOIO0F
e 121 Z 0|0
d24 20[0¢.

[Polite spoken form]

o 0|2 HEOI0R.



o 124 EE0I0L.
e M2 Z0/0IL.

"Here, there and over there" are used in similar ways to "This, it and that".

e Here = (4 J|
e There (it) = H |
e Over there = M J|

Alternatively, (A bit more formal)
e Here = 0| 22 (Liz. This place)

e There (it) = 1= (Lit. That place (it) )
e Over there = X =2 (Lit. That place over there)

Example sentences

0l %2 M CI0l R7? = Where is this place? (Where are we?)
e 0|2 ME0I0Il 2. = This place is Seoul (We're in Seoul.)

o M2 H 0l 2?=What is that place over there?
22 A2 A EO0I0l K. = That place (It) is a Seoul City Council.

XM IlE LIl R? = Where is that over there?
MIle g 20|10l 2. = That is Namdaemun (shopping center).
el 6ol= M3 IQI’ 2| 2t01 0l 2. = And this place is Sejong Cultural Center.

04 7| = is also usually contracted to ® 2! for the pronunciation's sake.

e (e - (2
e Hll= - 2
e Mll=— M2

Similarly, Ol, 21 and X are used with % to make the following words to denote a certain direction.

e 0|Z = This direction
e _1% = That direction (it)
e X% = That direction

Example sentences

e 0| &2 HA 0|0l K. = This way is (to) the living room.
o 1Z 2 HItCt0l 2. = That way (It) is (to) to the verandah.
e HE 2 Z7 0 K. = That way is (to) the exit.

o M [Sam]: ®HJ| St & A ULC| AU K? [Where is the toilet here?]
o OIXl [Minji]: St & 2 MEN UANHK. (The toilet is that way.)
o M [Sam]: M&E MLl JAXHKL? [What about a bookstore? (Liz. Where is a bookstore?)]



e 21Xl [Minji]: M & 2 O0IZ0ll AL H K. [The bookstore is this way.]

0l, 1 and N are used with nouns to mean 'this, it and that' respectively.

0| LIS = This tree
e _] & = That house (It)
X &b = That mountain

e O At BFJUAM 2 = This apple is delicious
o X AtDtE QFJUN R = That apple is delicious, too.

0l A2 HIYE0| 5 HoH K = This restaurant is famous for Bibimbap. (Liz. This restaurant,
Bimbimbap is famous.)
M YY 2632 20|02 = That building is the 63 building. (The landmark building in Seoul)

Note:

Bibimbap - is a popular Korean dish. The word literally means "mixed meal." Bibimbap is served as a bowl of
warm white rice topped with L} =, namul (sautéed and seasoned vegetables) and 11 =&, gochujang (chili
pepper paste). A raw or fried egg and sliced meat (usually beef) are common additions. The ingredients are
stirred together thoroughly just before eating. It can be served either cold or hot.[1]

Reference: [1] Wikipedia: Bibimbap, http://en.wikipedia.org/wiki/Bibimbap




Nouns - Present, Past

Nouns [ Al

In this lesson, we're going to learn how to say a word in present and past tenses plus how to use the same
expression in polite forms.

Present and Past Tenses

Each table below show how to say 'an apple' and 'a pencil' in four different ways. The table is divided into
present and past tenses, and positive and negative forms. Also, the first table shows the written form of
Korean and the second table shows the spoken form.

e The written form is used in literature such as books, newspapers and any form of writing that is not
'conversational.' The written form, in essence, is literary, factual and declarative. It is rarely used in
normal everyday conversations. However, the news on TV uses this written form of Korean. It is also
used in public speeches. The reason is probably due to the fact that the news and public announcements
or speeches are usually all declarative and/or factual.

e The spoken form is the usual way in which people speak and have a conversation. It is used in all types
of spoken Korean such as normal conversations, dramas, and movies, with the possible exceptions of
news, documentaries and other factual, formal types of programs on TV and radio.

Informal Written Present Past
Form
Positive Al 3o} Ao
ddo|th ddolAtt
Negative AL ot | A7} b AT
ddo] otk | Aol oYUk
Informal Spoken Present Past
Form
Positive A} 3} ok A} 93 o
A olof Aol

Negative G bk | AFTHED ok Kol
AW (o]) ohioF | AW(o]) oFL] R0}




Note: The verb ending, C}, is used for nouns without a final consonant, and O| C} for nouns with a final
consonant. Likewise, in the spoken form, OF is used for nouns without final consonant and O] OF for nouns

AP IFCEH=is an apple

AtZEDE OFLICH = is not an apple
At DA CH = was an apple

AZEDIE OFLI RLCH = was not an apple

& & 0| OF = is a pencil

A E(Ol) OtLIOF = is not a pencil
HAE 0| YO = was a pencil

A E(0l) OtLI L O = was not a pencil

with a final consonant. Therefore:

AtDHCH
HEOIC
At2tOF
HEOlOF

Note: In spoken Korean, the particles are usually omitted. In the above example, J}/0| are in brackets to

show that they are usually left out.

For more information on the Jt/0| particle, please read Particles - =, J}.

Polite Form

Each table below shows the polite form of the respective written and spoken forms we've looked at above

which were in the informal form.

Ago] opdi}

Polite Written Form Present Past
Positive AU T A &Y
ddddt AdolUsHH
Negative AFE b T

SRKEREEE
Ago] ofUgFY
o}

Note: To change the informal form to the polite form, the following rules apply:

In the case of the present tense,

o AttCH — AFELICH= C} (or OICt in the case of nouns with a final consonant, e.g. & &) is taken

off and replaced by & LI Ct

o AtDFDF OFLICH — AFIEDF OFE LICH= OtLICt is changed to Ot & LI Ch

In the case of the past tense, Ct is changed to SLICt.




o NNRALH - AP RASLICH
o AFILDE OFLIRACH — AFEDF OFLI RS LICH

Polite Spoken Form Present Past
Positive Al dte] & AL ol &
ddold e Aol .
Negative ATEH ob el e (ARG el el &
A ool [AL(e]) ot AL

Note: To change the informal form to the polite form, the following rules apply:
In the case of the present tense:

e AtIFOF — AFDEOI 2 = OF changes to 0l 2 (or 0l 2 in the case of nouns with a final consonant, e.g. ™4
@)
o AtDt OtLIOF — AFLt OFLIOI 2 = OF changes to Ol 2

In the case of the past tense, 2 is attached at the end.

o AHFRAN - MR
o AL OHLIIOT — AFL OHLIRIOI R

Here are some example sentences in the written form.

e JtHICt=is ashop
o JIZOICH=1is abag

o A J| L= wasbeef
o MM O|ULCH=was a teacher

Ol OtLICH = is not a flower
-1 It OtLI A Ct = was not a port
= 0| OtL| U C} = was not an animal

O 09 Hig

Try translating the following sentences in the spoken form. What do they mean?

o Al HOF

e &O|OF

e HIZJIO

o AFEOIAO]

e 2Z(0l) OtL|OF

o LSO OtLIMA
o SHIJ|(I OFLIA O



Answers:

is a clock/watch

is a house

was a pigeon

was a person

is not a cloud

was not a building

was not chicken (meat)

Now try rewrite the English sentences above in the polite spoken form of Korean, and pronounce them one
by one.

At this point, I'd recommend that you get hold of someone who is Korean to teach you the correct
pronunciation of each sentence, but I think many of you would not have that kind of luxury. So alternatively,
as imperfect as it may be, I'd recommend the Google Translate's 'Listen’' feature. It allows you to listen to the
pronunciation of the words you put in.

e Google Translate

For those of you who would like to know how to type in Korean, please try the google results for '"How to
type in Korean.'




Nouns - Nominalizing Verbs

In this lesson, we're going to learn how to nominalize a verb, which means converting a verb to a noun.

First, take Ct off the plain form of a verb, and then attach J| to it. (For a list of verbs in the plain from, please
refer to Verbs - Present/Past)

The following is a list of some of the verbs which have been converted to nouns.

21Ct — 21| =reading
MLCH— M| = writing

[t — DI = listening

2 otCH —» 26t J| = speaking
otCt — BtJ| = doing

JtCt — JtJ| = going

QL — 27| = coming

2L — 27| = watching

S CH — S| = eating
OFAICH — OFAID| = drinking
XtCH — XEI| = sleeping
20— 27| = walking

& 2lCt — €2lJ| = running
ACH— AFD| = buying

ZCt — 2| = selling

MCt — A DI = standing
2CH — Q| = sitting
ACH— &D| = living

=0 — =] =dying

Example Sentences

ZJ|= otJ| #12 20| Ch = Walking is an exercise that (we) can do easily

Li= &2 otJ|E £0t8tCt =1 like shopping (Lit. 1 like doing shopping)

StLi= Ot0l A3 8 9 J|E Z0}8tCt = Hannah likes eating an icecream

B Q= & =t ItJ|= g Xl 2L = 1It's not easy going to school in a rainy day

Mel2 @ )| E | 3L = Jane wanted 'selling’ an old CD player

D
ﬂJIﬂlorh

cf=l CD 2di0l

0
StLt = Hannah (Also a Korean female name)
OOl A= E = icecream
Bl = rain (noun)
L Lt = come
= =aday



Hl 2= Y =arainy day (Lit. a rain-coming day) (For more information, refer to Verbs - Descriptive I)
St 1 = a school

2 Ch = easy

| & = easy (Adjectives - Descriptive)

& S = exercise

N2l = Jane

Qe & CH=old
CD Z¢dI0l0{ = a CD player
2 Ot Ct = want (Please refer to Verbs - Want to learn how to form 'want to do")

Here are some more example sentences using nominalized verbs.

o APDI2H EDl= HIXILIA 2] J] = L. = Buying and selling are the business's basis.

H| XIL| A = business
J| = = basis, foundation

o XIF2 SE0MM Z2II12t MES =i EJ1E Z0tLL = Ji-young liked walking in the park and
listening to birds singing.

Kl'E = Ji-young (A female name)
=& =apark

2y 2 Ch = walk

M = a bird

‘-2 =asong

= C = listen, hear

e A=HE HIE M &HJI, ADI, EDI, ZotIl= 25 IS SR 0tCH = When we learn a foreign
language, reading, writing, listening and speakmg are all very important.

2| = 0f = a foreign language

BH < Ct = learn

B2 [ = When we learn (To learn how to use ‘when’, please read Conjunctions - When)
L& =all

O < = very

= R 6t L} = important




Nouns - Numbers and Counting

There are two ways of pronouncing numbers in Korean. These are:

e Sino-Korean numerals - &, 0], &, ...

9
e Native Korean numerals - otL}, S, All

Ay oo

The Sino-Korean numerals are used for dates, minutes and prices.
The native Korean numerals are used for counting, age and hours.

Sino-Korean Numerals [Dates, Minutes and Prices]

The key to memorizing the pronunciations of the Sino-Korean numerals is to learn from 1(&) to 10(&}), and
use these ten numbers as building blocks to learn the rest of the numbers. Here is a list of the first ten

numbers:
o 1 =g
e 2=0|
e 3=124
o 4= A}
e 5=2
e 6=
o 7=%
e 8=¥
e 9=+
e 10=12!

From 11 to 19, what you need to do is say 10(&}) first and say the ones' number.

For example,

e l1=10+1 >+ =8¢
e 12=10+2—> & + 0l =40l
e 13=10+3 - & + & =44
e 17=10+7T->4&+E=4Z
e 19=10+9 > & +F =87

From 20 and onward, it works in the same way. But in addition, 20, 30, ...,

way:
e 20= 0| + & = 0l & (Lit. two-ten)
e 30= &+ & = &' &) (Lit. three-ten)
e 50=22+ 8 =24
e 30=E+ & =24

90 are pronounced in the following



Al
=

e 90=7+4&=+

Additionally,
e 21=0|4&
e 22=0[& + 0l =0/&0
e 32=2140+ 0| = &40l
e 45=AN+22=AIA2
e 57T=28 +E =242
¢ 80= T4+ =T

+ & = 0| & & (Lit. two-ten one)

100 is B4, and 200 is O| 2% which literally means 'two-hundred.' Then how do you say 300 as a Sino-Korean

numeral? Yes, it's & 24

o 100 = tH

e 101 =tHY

o 105=8Q

e 127=800|4 &
e 200 = 0] &H

e 219=0|8H 4 H
o 324 = AMEBHO[ A A}
e 508 =H

o 731 =ZAaNA
e 045 = FUAIN P

(Lit. three-hundred)

1000 is &, then 2000 is? Yes, it's Ol & . Then how do you say 3283 in a Sino-Korean way? It's &/ & 0| 81 & &
&F. [Lit. three-thousand two-hundred eight-ten three]

1000 = &

1001 = & &
1035=3&42
2427 = 0| M A0 & &
8492 = & AP A4 0]

What is 10000? It's 2F. It is not &-& (or ten-theusand). 20000 is O B+, 30000 is

¢ 10000 = £t

e 10002 = POl

o 10034 = BHAFAI AL

* 20673 = 0| DHS B A A Al
o 84832 = TOIAI M T A

AlO

=

Now 100000 is

- Y+

AFO

[ R

and so on.

Al
=

0l

and 200000 is O| & BF. At this point, it'd help you understand the naming system of these



numbers if you think them in terms of their number of zeros. Here is what I mean:

10000 is Et

10,0000 is & Bt

100,0000 is 28 Bt

1000,0000 is & Bt
1,0000,0000 is & (NOT 2£2hH
10,0000,0000 is & &
100,0000,0000 is 28
1000,0000,0000 is & &
1,0000,0000,0000 is 2~

You can see that numbers obtain a new name every time they get additional 4 zeros. This is different to
English where the name of numbers change after every additional 3 zeros. For example, 'thousand', 'million’
and 'billion’".

However, when we write numbers, we follow the international standard in that the comma is placed after
every threes. The examples above where the comma is placed after every 4 zeros are for the purpose of easier
understanding only. Therefore:

e OH=10,000
e & BFH=100,000 (NOT 16,0000)
o 980H=1,000,000 (NOT 100,0000)

Let's revise what we've learned above:

1H=48¢€
12=40]
13=48¢
20=014&
25=0182
30 =454
40 = At&
50=224
56=228 =
70=Z&4
80=2Z4
100 = 24
101 =
107 =
120 =
150 = =4
200 = 0l &8

202 = 0|84 0|

537=2LBAAE[500+30+7 - W+ & + 2 =W Y
1000=&

JE I IE

H 2 A pe

[Lalita

]

® 6 6 o6 o o ¢ ¢ o o o o o o o o O o o o
]



2000= 0l &

2500 = 0| & L84

10000 = Bt

10500 = 2+ 2284 110000 + 500 — B + 284 = DI D BH]

53847 = QB E EERALAI E [50000 + 3000 + 800 +40 +7 — 8+ &M & + EHE + AFY +
QU T ALY E]

1]

The following are the examples of how the Sino-Korean numerals are used for dates, minutes and prices.

[Dates]

The order in which the date is written is reversed in Korean. A day of the week comes first, then a month and
then a year. [a year = &, a month = &, a day of the week = &

Notice how the Sino-Korean numerals are used in pronouncing dates.

e 28Jan2010 —» 2010 12 282 = 0| & EH 2 F 0|y E L
e 17/10/2011 — 2011/10/17=2011E 108 17Z =0l A L Al 2 &

ol
=

[a]

Note: 10& is not & &, but rather Al 2. This exception is due to the awkwardness of pronouncing & &,
which is quite cumbersome to pronounce. Therefore 102 is Al for the pronunciation's sake.
[Minutes]

The Sino-Korean numerals are also used for 'minutes' but not for 'hours'. The native Korean numerals which
are used for pronouncing the number of 'hours' are explained below in the second section of this post.

[an hour, o'clock = Al, a minute(s) = &, am= &, pm= 2 F]

e 9:38am — L& OA| 382 =228 OIS Al &AEZ2
¢ 6:19pm — 25 6Al 192 = 25 OIAAl AR

[Prices]

The Korean currency is called 'won.' Its symbol is "W, and it's pronounced & .

e 12,800 — 12,800 = 2t0| & Z M &
e 39,130 — 39,130 = AHOF & UH AL A2

Native Korean numerals [Counting, Age and Hours]



The basic numbering system of the native Korean numerals is the same as that of the Sino-Korean numerals.
However, in addition to one to ten, there is a need to learn the special pronunciations of tens, i.e. 20, 30, 40,
50, 60, 70, 80 and 90.

From 100, the pronunciation is the same as the Sino-Korean numerals we've looked at above. [hundred (100)
= 94 thousand (1000) = &, ten thousand (10000) = 2}]

80=01=
90 =0t =
100 = &
189=8 {= OFS [100+80+9 —> M + HE + OtS = L =0t

o 1 =0fLI

e 2==

o 3=4All

o 4=4l

e 5=C}A

e 6=04

o 7=25%

e 3=0%

e 9=0}5

e 10=¢&

e 11 =¢& GtLt
e 2=C8 =
o [3=g Al
o 17=8 23
e 20=AZ

e 21 =AZ GtLE
e =A==
e 23=AF Al
e 30=ANE

e 40=0}&

e 50=%l

o 55=21 CA
e 60=0=

e 70=25

e 75=25 X [70+5 > 2E+ A =2EIH]
[ ]

[ ]

[ ]

[ ]

afo

]

Below are the examples of how the native Korean numerals are used in counting, age and hours.

[Counting]
The native Korean numerals are used for counting, e.g. the number of people in a class, the number of cars in
a car park, the numbers of apples on an apple tree, the numbers of pencils or pens on a desk, etc.

e 1,2,3,4,5...=0tLt, =, AL A, TA, ..

When counting, we use distinctive identifier words called counters. Each kind of object (or person for that



matter) has their own counter to distinguish them from other kinds. This counter system is a bit like the
system found in English, i.e. 3 cups of juice, 5 glasses of water. However, the Korean counting system extends
to every object.

For example,

three cups of juice = =4 Al&
five glasses of water = 2 ChAd &
six people = H A H (AIE)

five cars = X+ Ch4d CH

three apples = At 1b Al JH

two pencils= HE S X2

four books = 2 4| &

ten roses = & 0| €& 0|

Listed below are some of the most common counters used in counting,

e & =people

e (2| = animals

o [l =cars

e JHi = objects (this is very widely used for any inanimate objects)

e k= =long, lean objects

o _]= =trees

e 50| = flowers

o ZJ| = shoes

o & = paper

e 2 =books

o &f =age

e 5 = floor [The Sino-Korean numerals are used for counting the number of floors, i.e. the first floor =
2 &, the second floor = 0| &, and the eighth floor = &

Please also note that ot LI becomes S}, and the final consonant of each of =, Al!, Y' and A = is omitted
when they are attached to counters. For example,

o (2) St& = a glass of water (NOT SHLEEE)

e (50|) && = two pieces of paper (NOT =&)

o (A1'2h) MIZ &l = three pairs of shoes (NOT 4lL22-4i})

o (AFE) UIY = four people (NOT Y1)

o (LIOl) AR 4! = twenty (years of age) (NOT &2 =4t

The counters work in a similar way to some of the counter words in English, e.g. & is similar to 'pieces' and
Z 2l is similar to 'pairs'.

[Age]

As we've looked at above, the counter, &f, is attached to years of age. For example:



3 OCI/\.“}\I-
17=2UIar
20 )\D/\I-
24=A2 Yl
n-HE S

58=¢l (& &

[Hours]

The native Korean numerals are also used for hours' but not for 'minutes' which use the Sino-Korean

numerals.

e 10:225am — 2 & 10Al 2
e 730 pm — 2= 7TAl 30

=
—

[Months]

ST —

= = 1 month

= 4 months

= 5 months

= = 6 months

=7 months

= 8 months

OP% ':.i = 9 months
& & = 10 months

® 6 6 o6 o o o o o o
52
X
0

Example sentence

e 2CH SOFEHDE O D
break(holidays) for 2 Weeks.

@

E
—s

&

S
=2

oh N2

ol
=

o} "t &t

L O ™M

=

>

o

0

b2

Ct

ML HO

o Al

-

@

gt

I

Al

ol
=

ol

(2} means 'a half")

= [ went to school for 2 months and had a



Adjectives - Present, Past

& 2 Al [Adjectives]

We're going to look at adjectives in this post. First of all, please have a look at the two tables below, which are
similar to the way the 'nouns' were presented in the previous post, Nouns - Present, Past.

As I've mentioned before in Nouns - Present, Past, there are two primary forms in which Korean is used, the
written and spoken forms.

e The written form is used in literature such as books, newspapers and any form of writing that is not
'conversational.' The written form, in essence, is literary, factual and declarative. It is rarely used in
normal everyday conversations. However, the news on TV uses this written form of Korean. It is also
used in public speeches. The reason is probably due to the fact that the news and public announcements
or speeches are usually all declarative and/or factual.

e The spoken form is the usual way in which people speak and have a conversation. It is used in all types
of spoken Korean such as normal conversations, dramas, and movies, with the possible exceptions of
news, documentaries and other factual, formal types of programs on TV and radio.

Please also note that there are two ways of expressing negatives, for example, = Lt means 'good' and & Ct
means 'many', and they can be expressed in the negative form in the following two ways:

1. Take C} off the present tense of an adjective, and attach X| & Ct (or X| & O} for the spoken form).
The Written Form
e =X| &Ct=not good

o XXl &Ct=not many

The Spoken Form

e =X| 20t = not good
o X X| 0t = not many

2. Attach ©t to the present tense of an adjective.

The Written Form
e 2FEL} = not good
o Ot L} = not many



The Spoken Form

e OF

—

OIE

Ot = not good
o Ot O} = not many

62

Below are the two tables showing the informal written and spoken forms of the adjective, it 2 Ct. (Please
read Adjectives - Polite for polite forms)

Please note that the words in bold indicate which of the two negatives are more common in each form, i.c. tit
2 X| & Ct is more commonly used than Ot Wit 2 Ct in the written form whereas Ot # 2} is more commonly
used than Wk = X| & OF in the spoken form.

Informal Written Present Past
Form
Positive bt = Ct L
Negative itk = XI 4 Ct ik = XI & U Ch
or it = Ct or WEHCH
Informal Spoken Present Past
Form
Positive LLIg=1S - 21-o]
Negative w2 2] oFol i 2 2] oF ko
o e} ot W o]

Here are the meanings of the different forms of an adjective, tiit 2 Ct.

it = Ct = fast

it = K| & CHOF ik = CF = not fast

w2t Ch = was/were fast

it = K| &2 UCH OF &Rt C = was/were not fast

W2t = fast

it = Xl 220t/ F ¥ 2t = not fast

w201 = was/were fast

it = K| 22 QpO/0F Bt = was/were not fast

The List of Common Adjectives

Present Past

Positive Written Spoken Written Spoken




High

Low

Big

Small (size)

Spacious

Cramped

Many

Small (quantity)

Kind

Fast

Slow

Easy

Difficult

Interesting

New

Hot (tangible)

Cold (tangible)

Warm

Cool

Wonderful

Beautiful

Honest

Lovely
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Humble ALk A

The following are the rules for the conjugation of adjectives:
I) Present (Written) — Past (Written)

1. For adjectives whose last character contain a final consonant, add 4t or .

e QU for the vowels, F and L
e 2 for the vowels, 1, =, — and |

E.g.
o SSCH — SFUCH= was thin
o =[t — =ULt=was high
o M} — A ACH= was small (quantity)
e =Lt — HAULH= was thick
o =Lt — Jt= AL = was thin
o HOIRUCH — THOI U Lt = was interesting/fun

Note: The rules 2 to 6 override the rule 1.

2. For adjectives whose last character is G}, it changes to 3.

E.g.
o = GtCH — &3 Ct = was kind
o ([t5E0otCt — =M C = was warm
o ARSI — Al & MCH= was cool
o MIIGHDE — &I DJIRU L = was amazing
o XL —» &ML= was wonderful

3. For adjectives whose last character contain & as a final consonant, take it off and add & C}. (Except

for & C} which changes to & U Ch)

E.g.

OtS &Lt — OtS CHEL L = was beautiful
CAHLCH — EHLLCH= was hot (tangible)

X2t — XHJFRLCH= was cold (tangible)
&Lt — =T L = was cold (feeling)

4. For adjectives whose last character contain no final consonant and the vowel, —, take it off and add



1,0,

E.g.

o ALt — ZULCH = was big
o OiI88CH— Ol %8 Ct = was pretty

However, when the vowel before the last character is |, then F, M can be used instead.

o OFZCt — OHECHOHE L = was sick (illness)
o LIBCE — LI CH UL CF = was bad

Also, in the case of £ as the last character, 2, % is used.

o it 2 CH — WL = was fast

5. For adjectives whose last character contain the vowel, |, take it off and add 3 , M.
E.g.

o “2|Ct —» =Lt = was slow
o ZMI|CH - &M ALt = was handsome/good-looking
o ML > R ALH= was ugly

6. For adjectives whose last character contains | as a vowel and S as a final consonant, they change
to | and M, i.e. 2 changes to 4.

E.g.
o WH2E[CL _, WHOH[C} = was red
o L2t — = RHLH = was yellow
o I — ML= was blue

IT) Present (Written) — Present (Spoken)
First of all, take Cl off adjectives and then:

1. For adjectives whose last character contain a final consonant, add O} or 4.

e O} for the vowels, F and -
e Of for the vowels, 1, —, — and |

E.g.



& CH— & OF = small (size)

=Lt — =0t = high

& Ct — H O = small (quantity)

Z= U — =50 = thick

=L — Jt=0 = thin

MOl ACH— XH Ol % O = interesting/fun

2. For adjectives whose last character is Of, it changes to Ofl.

E.g.
o XI26tCH — XIZ0H = boring
o A&GHCH — Al& 3l = cool
o Z 0L — & &0 = humble
o ADJIGHEE — AID|GH = amazing

3. For adjectives whose last character contain & as a final consonant, take it off and add ¥ . (Except
for & C} which changes to & U C})

E.g.

S0 — =2 = cold (feeling)

HE O — M ¥ = difficult

L AL — EHR = hot (tangible)
MEAEHO - A AR = lovely

4. For adjectives whose last character contain — as a vowel and no final consonant, change — to 1 .
(Except for it 2 Ct which changes to ¥ cl)

E.g.

o Lt — H =big/large
o OIB8CH— Ol bl = pretty

However, when the vowel before the last character is |, then — can be changed to | instead.

o OFZCh — OFLL/OFH = sick (illness)
o LEBYCEH — LEBH/LIH = bad

5. For adjectives whose last character contain | as a vowel and no final consonant, change | to 9 .
E.g.

o 2|t - & =slow
o ZMI|ICH - H2HMH = handsome/good-looking



o 2MIICH - M XA =ugly

6. For adjectives whose last character contains | as a vowel and S as a final consonant, | is changed
to H, and 5 is taken off. (i.e. & C} is changed to Of)

E.g.

[ ]
=3
=3
-

b — 9K = red
t — L2l = yellow
t — T}cH = blue

e o
EHn
O O Oy
(N

III) Past (Written) — Past (Spoken)

Simply change Ct to 4.

L — O = was big/large

= UL > =AU 0 = was high

L3O - =R = was slow

G0 — B0 = was red

(= HCH — 53 O = was warm (both tangibility and feeling)
EHRALCH - EH T O = was hot (tangible)



Adjectives - Polite [Present, Past]

Polite Form

In the previous post, Adjectives - Present, Past, we learned to distinguish between the written and spoken

forms of Korean. In addition to it, we're going to further distinguish between the polite and informal forms in

Korean.

What are the difference between the informal and polite forms?

e Informal - Generally speaking, the informal form is used among people of the same age or to people
who are younger by older people. It is also used by people who are closely related such as such family
members and relatives. People who are close friends would use this form depending on the familiarity

and acceptability.

e Polite - The polite form is used when speaking to people who are older than you or of a higher rank
than you such as in the company, army and other institutions. However, people generally use the polite
form in many social settings regardless of one's age. Initially, it would be best to stick to the polite form
when learning Korean, as this would be the predominant form of speaking to people in many social
environments. However, if you attend school or other similar institutions where you'd make friends and
the environment is more casual, it might be more appropriate to use the informal form.

Below are the two tables showing the polite form of the written and spoken forms of Korean. Please note that
the words in bold indicate which of the two negatives are more common in each form, i.e. it 2 X| & &LICH
is more commonly used than @t it S LICt in the written form whereas Ot # 2t 2 is more commonly used

than bt 2 X| & 0t K in the spoken form.

¥ g o}

Polite Written Form Present Past
Positive w51 o w2221 o}
Negative wEx] eyt | wEx gggyc

b W3z ch

Polite Spoken Form Present Past
Positive ol 9 w-glo] Q
Negative w2 2] kol Q 2 2] kol s
ot wetg ot w3pol




Conjugations rules

I) Informal written form — Polite written form (Present tense)

First of all, take Cl off adjectives, and then:

1. For adjectives whose final character has no final consonant, add = L|C}.
E.g.

e AU — ZLICH=big/large
o NICt— &L|CH=strong

o it 2 Ct — bbitS LICt = fast

o “2|Ct — S~ LICH=slow

o X5t — & LICH=kind

o [[}SGICH — S &HLICH = warm (touch, feeling)
o ARSI — AR ELICEH= cool (touch, feeling)

2. For adjectives whose final character has a final consonant, attach S L| C}.

E.g.
o X[} — HSLICH= small (size)
o LU — E=LICH=many
e M [t — A &SLICH= small (quantity)
o U - & LU = easy

HE LT - & LICH= difficult
o LAL — A SLICH=hot (touch)
e MESCt > MMS&LUICH=new

II) Informal written — Polite written (Past tense)
Take Cl off the past tense of adjectives, and then attach & L| Ct.
E.g.

o ULt - ASLICH= was big/large
o UL - A UASLILCH= was small (size)

o EUL - EUSLICH= was good

o WALH—» WRASLICH= was fast
o It - A SLICH= was slow

s

o T Lt — # T SLILCH= was easy

o AR — B =LICH= was difficult
o EHRLH - EHB SLICH= was hot (touch)



o XFIHE L — XtIHE & LICH= was cold (touch)
e M2 Lt > MZ % & LICH= was new

III) Informal — Polite (Spoken)

Attach R at the end of the adjectives of all forms.

E.g.
o S0} — =0t2 = high
o Ot=0} - Pt=0tR = not high
o =AU - =AU NHK = was high
o OF=40 — CF= 01 R = was not high

2 = many
20t 2 = not many
4 R = were many

OtE A R = were not many

—
0
—

=N
I 1y
o0 S

12 52 12 62
iwl
0

e O o o
52 30 62 2
20 2

=

l

H — H R = big/large

Ot — OFH K = not big/large

AU — B HL = was big/large

IO — Ot U & = was not big/large

For help with the pronunciations of these adjectives in various forms, please use the 'listen' feature on
Google Translate.




Adjectives - Descriptive Form

In the previous posts, Adjectives - Present, Past and Adjectives - Polite [Present, Past], we learned that
adjectives in Korean function like verbs in that they can be conjugated into present and past tenses, and
various other forms.

However, when describing nouns using adjectives placed in front of them, for example, 'a beautiful bird', the
adjectives must be conjugated to the descriptive form.

E.g.

e OIS E Lt — OtE L [A plain form — A descriptive form]
e OIS CUHE M = a beautiful bird

The Table of Common Adjectives and Their Descriptive Forms

Written Form | Plain Positive Descriptive
High =t 2
Low = e

Big El=t a

Small (size) Zo} S
Spacious ¥ LA
Cramped =t <
Many g e
Small (quantity) | 4t} RIS
Kind 25}t =3l
Fast il = T} =
Slow gt A=)
Handsome ol ol
Ugly A7 XA
Easy Aot S Ein
Difficult o]H} o] &
Interesting PRI 7] Q)=
Boring A| s}t 2| 53¢
Hot EEe AE
Cold s A} 7hE




Warm w55l o whE 5
Cool NEakas=t Nk
Wonderful 3 #}shot 3 23k
Beautiful ol=wtr} o=}
Pretty of 1} of 22
Humble A&sho A 4=3)
Loving At At e g
Red @2t ook
Yellow CEO et

Conjugations rules
First of all, take C} off adjectives and then:

1. Attach 2 to any adjectives of one character with a final consonant.
(Note: The next rules override this rule.)

E.g.
# 0 — B2 = many
22 AtHS — many people
e X[} 5 &2 =gmall
o &2 LHMO| — a small dwarf
SO — SF2 =thin
=2 & — athinarm
o =Ct - =2 =high
e =2 0Ol= — a high sky

E.g.

o QUL — % U= = handsome/good-looking
I — a good-looking car



o HOIBLCH — XH Ol 8L = = not interesting (boring)
o {0l 8= & 2t0t = a boring drama (soap opera)

Note: The meaning of R Cl is 'to exist', and its opposite is 2! Ct which means 'to not exist'. Therefore, the
adjectives which have a stem of ULt can also be used with S{Ct.

E.g.

o OFQULCH — BRI [tasty/delicious — not tasty/delicious]
o SIULCH— % UL} [handsome/good-looking — not handsome/good-looking (ugly)]
o MOIACH— OISt [interesting/fun — not interesting/fun (boring)]

3. For adjectives whose final character has a final consonant of either 2 or S, replace them with .
E.g.

e Z[t— 2/ =long
? — a long pencil

o [t — tF =sweet (taste)
o Tt =Z28 - sweet chocolate

o It > B2t =red

=
o WIF At — ared apple

o L2 — L& =yellow
o 2t 24 =a yellow umbrella

4. For adjectives who final character has a final consonant, =, take it off and attach 2 to them.

E.g.

o Tt - 2|2 =ecasy
e #| 2 = Ml — an easy problem/question

e OIS ECH —» OIS LR = beautiful
e O}SCIE £ — a beautiful flower

o Xt Lt — XHIJH2 = cold (tangible)
e XtJI2 HHY = a cold floor

o LAHLH - L£HZ =hot (tangible)
e [LO{2 HI = hot coffee

*Exception:



— &2 = narrow, small, cramped (space) (NOT £2)
&2 3% = a small/cramped playground

5. For adjectives whose last character does not have a final consonant, just attach - to it.

E.g.

| Ct — S &l = nice/cool

_I
A
1 &l 2 X} — a nice/cool hat

o 088 LCH — Ol 2 = pretty
o 0l & 725 — pretty shoes

o HHI2Cl — I E = fast
o HitE X} =Xt — a fast car

o 2|t —» L&l =slow
o U2l =& - aslow speed

Irregular
o ELt - £2 =good
E2 M -

&t — a good man

Please note, however, that the descriptive form is usually used in writings, as in written Korean.

Hig

In spoken Korean, it is more natural to say 'beautiful flowers' as '2 0| Ot & L} &' rather than '0t SCLHE
Ol 0l K.' (For more on the 'spoken form,' please read Adjectives - Present, Past)

E.g.
« 2S
o IS

o =X

0| OtE LY K = The flowers are beautiful.
XtIt & M 2 = The car is good-looking.
It /| R = The question is easy.

Also, in spoken Korean, the particles are often omitted except for the S/Z particle.

= 0SS R = The flowers are beautiful.
S Xt %M R = The car is good-looking.
o Z Nl /¥ K = The question is easy.

Again, in casual conversations, these sentences would more naturally flow by using 'U|.'

I

20

== 0ISEUR

o UHSXH AU



o =M Ul

The difference between '& M|l R 2'and ' M & Ul 2" is that '"& Ul R is less blunt than '#| ¥ 2' which
sounds more factual and generalised.

o Z Ml & UlK = (I see that) The problem/question is easy.
e Z Xl 2/ ¥ 2 = The problem/question is easy.

o 20| S UK = (I see that) The room is spacious/large.
e 20| & M{ & = The room is spacious/large. (It can sound quite blunt and just factual.)



Adjectives - Connective Form

This lesson is about the connective form of adjectives. This form is used to list several adjectives in a

sequence, and to connect one sentence to another.

The conjugation rule for the connective form is easy.

e Take L} off adjectives and then attach 1) to them.

Written Form Present Connective
High = Fal
Low v} v

Big El= Bkl
Small (size) Zt} A1
Spacious e S
Cramped = =1
Many wr} W
Small (quantity) ESpe K
Kind =)o} 2+3} a1
Fast il = T} =
Slow =} =gl
Outgoing gt gdutshar
Quiet Zg3c} Z83t
Easy |t L
Difficult ojHt} o] 11
Interesting 20 1] U A\ Q) a1
Boring e PR
Hot (tangible) 2=pe hul s Al
Cold (tangible) F{Edps A4t aL
Warm s 2 )
Cool Al Y skt Al sha
Wonderful P A5t S P 1A
Beautiful o=t o=l
Patient A Sl AIUA i




Humorous <71t % 7]aL
Calm %] z+5) ) 2 23} 31
Humble A& A&3E
Lovely Al =g A= aL

The connective form of adjectives is used in two situations:

e To list adjectives in a sequence
o To connect one sentence to another

1. To list adjectives in a sequence

If I was to say 'kind, beautiful and humble' in Korean, the adjectives must be changed to their connective
forms except the last adjective of a sentence which determines its tense.

E.g.

Z5HCH —» =6 D = kind
o OIEELI - 0IE Y 1) = beautiful
o 2 Z06ICH=humble

& &6t CF — kind, beautiful and humble
A &M CF — was kind, beautiful and humble

0
iy

=i C} — was beautiful, humble and kind
% Ot — was humble, kind and beautiful

As you can see, the last adjective determines the tense of a sentence.

2. To connect one sentence to another.

The connective form of adjectives is also used to connect sentences.

S2le= 2ol R = Yuri is kind
e /L= OIS CH 2 = Mina is beautiful
o M= HZE0HE = Jinsu is humble

DIHJ



=cle #otl, DLt OtsE L, d+= &l K.

= Yuri is kind, Mma is beautiful and Jinsu is humble.

e MHC|= 2 HK = Andy is humorous/funny
o LAHILCIZ2 XZ0H K = Franklin is quiet

o NAIZt= EZ 0ol R = Jessica is outgoing

HC|= DD, THZ2RI2 X226+, MAIIt=E 8l
= Andy is humorous/funny, Franklin is qulet, and Jessica is outgoing.

e S= = A& 0ICH= A soft drink is cool
e Xt= AL =Teais hot
o U&= YL = Grapes are sweet

S8+c AlFotL, = EH0, 2= E
=As ft drink is cool tea is hot, and grapes are sweet.



Verbs - Present, Past

S Al [Verbs]
Now, we come to learn, possibly, the most important subject of all Korean grammar, the 'verbs.'

I have drawn up tables below to display various conjugations of verbs. But first of all, we need to pay
attention to a distinct feature in Korean verbs, namely, the plain form.

The plain form is the most basic form of verbs, from which all the other conjugations of verbs are derived and
produced.

However, the plain form is almost never used in both written and spoken Korean. The only instance where
the plain form is used is when verbs are listed in the dictionary. Therefore, it is necessary to know the plain

form if you'd like to know the meaning of certain verbs and find them in the dictionary.

Examples of the plain form of verbs

° 6|’E|’=d0
o SiCt=cat
e JtCt=go
e &2l =run

Informal Plain Present Past
Written Form
Positive ol O} o= ™ o T}
Negative o] x] 2k} w 2] ek} ™ %] oFglr}
shHg | ot #Hyh

Informal Plain Present Past
Spoken Form
Positive oy o} ™ o] H o) o]
Negative wx) gop | wA el | wx ekl
(e}

kel | 2 ol

Note: The words in bold indicate which of the two negatives are more commonly used in each case, i.e. & Xl
& = C} is more commonly used than &t & =Ll in the written form, and @t %  is more commonly used
than & X| & Ot in the spoken form.

A Table of Commonly Used Verbs



Written Spoken
Plain Present Past Present Past
Go ZHet Hass Zkck 7} 2Fo]
Come o =t ko oF $kol
Run gejgp [wEn (gt |2 gglof
Eat o/ o} miok (e e = 9] o]
Stand A} Mk At A o]
Sit ore o=tk (gt [grel ok stol
Buy ALLt s Ak A} 2
Sell 717 o} gofch | o} 2 gtol
Grow R A = e = fghol
Throw E = o} Azt S A A5
Borrow 2zl o} gt R0 5o
Lend 2] 7 e (EEFed |[2E A D531
o ol
Play =t =of =%t o} = ko]
Write Ao & 2 & 2
Read e gtk |and |9 2] 2]
Listen = ==t =3A = =310
Live g A aspeh [ abo} 2kgrol
Die e zeg (z2an [F 910}

Conjugations Rules
I) Plain — Present (Written)

1. For verbs whose last character has a final consonant, replace Ct with = C}.

E.g.
Ut - H=lh=ecat
AE H =L = eat an apple
20— 2 =0 = walk
tet& 2 =Ct = A human walks



E.g.

UL - 2 =0 =believe
L= 0l=Y = L =CF=1believe Jesus

JtCH — 2+CH = go
0I0t= st E 2L = Mina goes to school
2 L — 2O = watch/look/see

3. For verbs whose last character has 2 as a final consonant, replace it with —.

E.g.

< e
Qa
w2

r re

=t

b= sell
2l 2 EHCH = This shop sells fruit

S,
= |

AFCH = live
4 Il A ACH = Ji-u lives here

=
10 &

|

[w]

I
!

OICt = push
£ 0ICt =push a car

Yaa
on &2
Yal

IT) Plain — Past (Written)

First of all, take Cl off a verb, and then:

1. For verbs whose last character has no final consonant, attach M as a final consonant.

E.g.

IJLCE: b+ m EP—D*EP went

ACH A+ A Cf = = bought
MNCH AN +m C= 4 l]—stood

KECH: RE+ m G = DECE = slept
XtetCh: Kbt + ax CF = XFRACH = grew

Exception:



o SICH— RMCH=did (NOT SLCH)

Note: The following rules override the rule 1.

2. For verbs whose last character has a final consonant, add ! or

e For vowels, | and L, add &t.
e For vowels, {, ™, — and |, add &!.

E.g.
o Ik Y+ ULH=EULCH=flew
o &FCH &+ QULH= & ULt =lived
o =Lt =+ U= =ULE = played (had fun)
o UL H + AULH= URULt = ate
o Sk =+ ALH==ULH=died
o SCh =+ ALH= S ALt = lifted up
o L[} Y+ AULH= L ALt = pushed

A.

3. For verbs whose last character has | as a vowel, and no final consonant, change | to § and attach

M as the final consonant.

E.g.
o &Il Eel o€ - 2Rt =ran
o AL} 8l - 2R — &L= borrowed
e O|JICH O|J] - 0| A — Ol A CH=won
o SIXICHEX - R — @R L= threw
o CILICEH CtL — O — CHELCH = attended

4. For verbs whose last character has -L as a vowel and no consonant, change - to L} and attach A as

the final consonant.
E.g.

o 2Lt — ZCh=came
o B[} — 2Lt = saw/looked/watched

5. For verbs whose last character has — as a vowel, replace it with { and then attach M as the final

consonant.

E.g.



e ACH 3 —» A — JULH=grew
o MCEM M — M LCH=wrote
e E[}: E - & — R} = sprouted

Irregular form

E.g.

e o
nin ot

a0
VN

mn s

29 O
[w

I1I) Plain — Present (Spoken)
1. For verbs whose last character has a vowel, | or 1 and no final consonant, just drop C} off.
E.g.

o JICt —» Jb=go

o ANCt — M = stand

o AtCH— Al =buy
o LtetCt — Xtet = grow

Exception: St changes to off.

E.g.
e OfCt — oll =do
o 2oL — & 0olf = want
e 0Lt — Fo = save (a life)

2. For verbs whose last character has a vowel, - or T and no final consonant:

e L changes to L}
e T changes to 7

E.g.
e 2L} — 2 =come
e 2L} — 2} = see/watch/look
o =} — & = place (something) on, leave (something as it is)
o =L — FH =give
o HHCE > &EHH =lend



3. For verbs whose last character is 2, drop it off and then attach a final consonant, =, to the
character preceding 2, and then attach 2} or & to them.

o Cl for verbs whose character preceding £ has a vowel, | or L.
e 1 for verbs whose character preceding £ has a vowel, 1, T or |.

E.g.

2L - Z2l =divide
o AtE2LCH— &2l =cut
@20 — =2t =climb

HECH — Z 21 = filter, sift

MS 20 - MEd = hurry
20— 22 =roll
IHZ2XZ2LH— L2 & 2 = go cross

(Also, for verbs which have a last consonant of —, replace it with 1 .)
o MOt — M = write

e J1Ct — JH = extinguish (a fire)
e L[} — [ = float

4. For verbs whose last character has | as a vowel and no final consonant, change | to 7.
E.g.
o XICt— M =1lose

e 0|JICH— 0|4 =win
e HXICH— © M = throw

5. For verbs whose last character has a final consonant, attach:

e O} for characters whose vowel is | or
e Of for characters whose vowelis {, T, —or | .

E.g.
o ALt — &0t =live
o Z[} - ZOl=sell
o Ol — SHO0L=sit
e =[} — =0t = play (have fun)

o Hll— YO =eat



o =Lt > =01 =bite

o =Lt - =0 =age

o 2Lt — &0l =read
Irregular form

o = Ct —

uin

IV) Past (Written) — Past (Spoken)

Simply change C to (4.

2UCH— 20 = went
- B = came
g0 > E3¢ =ran
HACH - HUN = ate
Ot&CH— OF &3 Of = drank

listen/hear



Verbs - Polite [Present, Past]

Polite Form

This lesson is about the polite form of verbs, in addition to the informal form which we learned in the
previous lesson. Let's go over again the differences between the informal and polite forms.

e Informal - Generally speaking, the informal form is used among people of the same age or to people
who are younger by older people. It is also used by people who are closely related such as such family

members and relatives. People who are close friends would use this form depending on the familiarity
and acceptability.

e Polite - The polite form is used when speaking to people who are older than you or of a higher rank
than you such as in the company, army and other institutions. However, people generally use the polite
form in many social settings regardless of one's age. Initially, it would be best to stick to the polite form
when learning Korean, as this would be the predominant form of speaking to people in many social
environments. However, if you attend school or other similar institutions where you'd make friends and
the environment is more casual, it might be more appropriate to use the informal form.

Note: The words in bold indicate which of the two negatives are more commonly used in each case, i.e. & X|
&% & LIC} is more commonly used than 2t & = LICh in the written form, and 8 S ] & is more commonly
used than & X| 20} R in the spoken form.

Polite Written Form Present Past
Positive WSy} H ol 2=}
Negative Wz &Syt 9z ger&yth
FHEFUH FHAFHH
Polite Spoken Form Present Past
Positive Ho| Q. Holo]l Q@
Negative W z] ¢rol g m %] erglo] @
ot ol g ot el &

Conjugation Rules

I) Informal Plain — Polite Present (Written)




First of all, take Cl off the plain form of verbs, and then:

1. For verbs whose final character has no final consonant, add = L|C}.

E.g.

e OtCt — & LICH=do

o JIt — ZLICH=go

o 20 - sLICH=come

o ML} — ZLICH= write

o 2LGICH —» L BLICH= speak
e Hi2tCt — BHEFLICH = hope
o XtetCh — X+ LICH= grow

2. For verbs whose final character has a final consonant, add = L| Ct.

E.g.
o A} - HSLICH=ecat
o 2}t —» HSLICH=walk
o =t - EsLILH =listen
o At —» HASLICH=read
o ALt —» Y SLICH= wear

Note: The rule 3 overrides the rule 2.

3. For verbs whose last character has 2 as a final consonant, change it to = and add L|C}.

E.g.
o &It — &LICH=Ilive
e =[} — =LICt=play (have fun)
o 2Lt — 2LICH=know
o ZLt > ELICH=A1l
e Z [t — ALICH = hang (up)
o ULt — ZLICH=roll (up)
o L — YLICH=push

II) Informal Past — Polite Past (Written)

Take C} off the informal past form of verbs, and then add & L|Cl.

o MNCH— MSLICH=did
o ULH— LUSLICH= went
o 2tC} > 2SLICH=came



2O — 2SS LICH= watched
HUJUCH > HAUSLICH = ate
g0 - &R SLIC=ran
OGO — OFSHS LICH = met

III) Informal — Polite (Spoken)
Just add £ to the informal spoken forms.
e Ol - HR =do

e Jl > JIR =¢go
o - 2t =come

Otoll — Ctol K = not do
otg} — OtEL 2 = not watch
OtAF — CFALR = not buy
OtXH — AR = not sleep

Q
29
=
l

HAUNH L = ate
e HUNH — HUNHL = walked
OGO 2 = met

[ ]
o
C
Q
l

o O — OHM(H R = didn't do

o Ot — LUK = didn't go

o OIHANH — AHHAN R = didn't eat

o OIHAFNH — HHF N KL = didn't borrow

A brief revision of the differences between the written and spoken forms

e The written form is used in literature such as books, newspapers and any form of writing that is not
'conversational.' The written form, in essence, is literary, factual and declarative. It is rarely used in
normal everyday conversations. However, the news on TV uses this written form of Korean. It is also
used in public speeches. The reason is probably due to the fact that the news and public announcements
or speeches are usually all declarative and/or factual.

e The spoken form is the usual way in which people speak and have a conversation. It is used in all types
of spoken Korean such as normal conversations, dramas, and movies, with the possible exceptions of
news, documentaries and other factual, formal types of programs on TV and radio.

Verbs - Future [Will]

We're going to learn how to form a future tense of verbs in this lesson.

Please have a look at the table below.



Informal will do won't do

Written Form st 4} otXl &2 HL
oF & HC}H
Spoken Form & D10t otk 2= HOF

==
ot g HOk

Note: The bold letters indicate which of the two alternatives in the negative form is more commonly used in
each of the written and spoken forms, i.e.:

o Ot Xl &= AL is more commonly used than 2F & J{Ct in written Korean.
e Ot & HOF is more commonly used than StX| 22 710} in spoken Korean.

Conjugation rules

First of all, take C} off the plain form of verbs and then:

I) Will

1. For verbs whose final character has no final consonant, attach 2 HC} to them.

E.g.

ot — & HC = will do
IHCH— &2 HCH = will go

PLC — =2 HCH = will come
OFLICH — @FE H CF = will meet
XtetCh — Xb&E 4 CF = will grow

2. For verbs whose final character has a final consonant, attach 2 H C} to them.

E.g.
o HL} - HZ2 HL = will eat
o ULt — A2 HCH=will sit
o 2L — = HCH=will read
o ALt — &= HL = will wear
o &t — &= LI =will catch

Note: The rule 3 overrides the rule 2.

3. For verbs whose final character has 2 as a final consonant, just attach H C} to them.

E.g.



o ULt — LIHLt = will push
o Lt — Y HCH=will fly
o ACH — AL = will live

Irregular form

o E[L} 5 EE HC} = will listen

IT) Won't

Simply attach X| &= HCl to verbs.

E.g.

e OtCt — oKXl 2= HCH= won't do

o JtCH — JHXl &= HLE=won't go

e 2Lt —» 2K £= HCH = won't come
o AtCH— ALKl 2= HCH = won't buy
o H[L} - HIX| L= HCH=won't eat

o UL — AKXl 2= HCH=won't wear
o U[CH— & X L= HCH= won't sit

o UL — LUX| L= HCt = won't push

Example sentences

o T 0l 2 HOk? = Will you go home?
o Atct= = & H0F = Sarah will swim
o (I 2 22|12 0/2Z2 0k = David will beat Goliath
o LHEHUHIM JIEHZ HOF =1 will play the guitar in my room
o =2 8220 S & HOk = John will enter the museum
& = home
Z = John
= U JICt = enter
J| &t = guitar
X| Ct = play (the instrument)
Al2} = Sarah
== Oo4 = swim
Ct&! = David

= El 2F = Goliath

Question Form

Raise the tone of your voice at the last syllable to turn it into a question form.



e o
S oA Jon
o 0> &

O|_|- H

—

Polite Form

Let's briefly go over the differences between the informal and polite forms again.

While the informal form in the examples above is used by people who are of the same age and/or close, or
when older people are talking to younger people in informal situations, the polite form is commonly used
by younger people addressing older people, and in any formal situations.

=2
=
09
Ol- =

=+ & HO0F? = Will you do(play) soccer?

HM 2 HO0F? = Will you go(leave) already?
= j‘l 0F? = Will you wash? (Will you take a shower?/Will you take a bath?)
=2 & = JH0F? = Will you watch the Olympics?

ot 2t 1 0F? = Won't you go to school?
9= HO0F? = Won't you have lunch?
HOF? = Won't you read this book?

Polite Written Will do Won't do
Form
Fddt | 8A 2 1Y
o}
ok g 7t}
Polite Spoken Will do Won't do
Form
sk Ad Q. SHA] @& Ad e
g Adea

Note: The bold letters indicate which of the two alternatives in the negative form is more commonly used in
each of the written and spoken forms, i.e.:

Conjugations rules

Eu\_J

LI C} is more commonly used than 9 &f
is more commonly used than Gt X| 2= JH 0l R in spoken Korean.

I) Informal — Polite (Written)

Simply change HCl to & L|Cl.

E.g.

2 LI C} in written Korean.



o OLAIXI 2= JHCH— OHAIK
o E2lX &= Nl - E2lXl

Ol

FALICH=will do
& LI Ch = will go
HS A LICH= will eat

12 Iy e
SR
i
L

L

LI Ct = won't drink
LICt = won't run

= A
= -
= A
= -

2 62

IT) Informal — Polite (Spoken)

Simply change Of to 0l 2.

E.g.

& {0F > & H0 K = will do

2 HOF - 2 HUl R = will come

S0HZ HOF- S0HZ H0lK = will enter (go in)
ot =2 HOF— ot = H0l 2 = won't see/watch
oLerel HOF— oHEE HU R =won't run

Example sentences

ol Z H0 22 = Will you go home?

AeteE =F & HO0l K. = Sarah will swim.

e =2l o0l& A 01| 2. = David will beat Goliath.

E2 8220 =HZ H0l K. = John will enter the museum.

Me HAHA JIEH & HOU K. =1 will play the guitar in the living room.

A= H U 2?2 = Will you wash? (Will you take a shower?/Will you take a bath?)
£ Nd 2 H 0l 2?2 = Will you go(leave) already?

=7 & )10l 2?2 = Will you do(play) soccer?

2 = HOlR? = Will you watch the World Cup?

w Ot 2ZF H Ol 22 = Won't you go to school?
Al OF O

&t
o 4 ot HE= HUHK?= Won't you have lunch?
0l £ =

Ok 212 HO0ll 272 = Won't you read this book?



Verbs - Contiunous

Continuous Form [~1] QU C}]

In this lesson, we'll learn about the 'continuous' form. It would be similar to the '-ing' form in English.

Informal Written Plain Form Present
Form Continuous
Positive otCH ot ULCH
Negative ot Xl & Ct OotXl &0 UL
ot SICH Ot ot 0 UL
otCt=do

ot Xl & Ct/Qt SECH = not do
ot ULt =is doing
Xl & 10 JUCHCH 6t UL = is not doing

Note: The bold letters indicate which of the two alternatives in the negative form is more commonly used in
the written form, i.e.:

o Ot Xl 2 C} is more commonly used than Ot GtCt in written Korean.

Informal Written Past Past Continuous
Form
Positive HCH ot UIAPCH
Negative Ot Xl AT OtXAl &) JUAULTH
or HCH Ot ot UALCH
o HNCH=did
o OFXl L ULCHH ML= didn't do
e Ot 1) UAPLt= was doing
o OHXl &2 10 JU/UCHCH SHD U ACH= wasn't doing

Conjugation Rules

Take C} off the plain form of verbs, and then add 12 QU (R1)C} for their positive form and X| 2 11 U ()
Ct for their negative form.

E.g.



riting
= Peter is writing a letter.

0 &
:I_é

o LIAFL - LA =10 ULk=1is

is serving/distributing
e 2HZ O0IS0IH Sus4=E L

7 2= 10 ALH = Bo-young is serving school meals to children.

JU

E=e i

ro &2
=9

Ct = was listening
NXIE €10 URULH=Paul was listening to a Tim Keller's message.

[ )

M nin
om |
e nin

o XtCH— XHAl & 10 }AACH= was not sleeping
e OtJl= AtAl 210 URULH= The baby was not sleeping

o ALCH— A1 UIUCH= was standing
o I 2RES HITY SHAUM A= D UJACH= The English guardsman was standing
continuously in front of the Buckingham Palace.

Spoken Form

Informal Spoken Present Past Continuous
Form Continuous
Positive 3Fal )¢ 3FaL Yo
Negative SHA] eFaL o] | BhA] Al Ao
ot st glol | <k 33 YN

e ot1) QA0 =is doing

o OtAl &1 AU0/QF 1D UDN =is not doing

e ot UK = was doing

o OFAl &40 UAC/CH St UU K = was not doing

The conjugation rule is the same as the written form except C} at the end of sentences changes to 0f.

A& H JUNH =1am eating lunch
=c|0t= 2 E2l1) /O = Julia is not running

o SR = &E ZS2tIt] UK = Hyun-woo is climbing a mountain.
o DI= 1t MHER AU 28 S 2HE 1D UG = Min-ju is making a fruit salad and fried salmon.



o OIMEH Us=XIJt 2 X010 AU = Since a while ago, the hedgehog was not moving.

Polite Form

While the informal form in the examples above is used by people who are of the same age and/or close, or
when older people are talking to younger people in informal situations, the polite form is commonly used
by younger people addressing older people, and in any formal situations.

Polite Written Form | Present Continuous Past Continuous

Positive st 95y k3l A&yt
Negative 3A &3 Y&EY | A L1 YUEF
g

o s elgynt | st AEy

LI Ct = is doing
USLICHEH ot ) ASLICH= is not doing
S LICH = was doing
Xl & D_ UAPSLICH 6t UASLICH= was not doing

;9 kO

Polite Spoken Form | Present Continuous | Past Continuous

Positive 3lar gloj & shar glglol &
Negative shA] L ol 8 | ShA] Al A 8

ot U K =is doing

OtAl 210 AR/t 610 A H K = is not doing
ot i

ot

K 20 JUAAHK/2 6] UJUNH K = was not doing

Conjugation rules
I) Informal — Polite (Written)

Simply C} at the end of the informal written 'continuous' forms changes to = L| Ct

e ot ULH— ot YA=LICH=is doing
o It ULH— It 1D UASLICH=is going
e 21 AU —» 21 JUSLICH=is coming
o 21 ULt - 21 AUSLICH= is walking



e
N
N
4
w
l

=
uin
N
$0
)3

LI Ct = is making
IT) Informal — Polite (Spoken)

Simply add & at the end of the sentences of the informal 'continuous' spoken form.

U L = Ji-hye is going to school
AN 2 = Young-su is swimming

A0 R = Chul-min is watching a movie.
A0l UANH R = Jung-su was in the living room until a short while ago.

o I0ZNBNA HZTE X &0l Ot = 28 A1) JURUC K = Until about 10 minutes ago, there was
no one standing in front of the Buckingham Palace.



Verbs - Connective

Connective Form [G} 11]

This lesson is about the connective form which is primarily used in two ways:

1. To list verbs.

2. To link one sentence to the next.

We'll have a look at these functions of the connective form in detail below.

Table of Common Verbs and Their Connective Forms

Written Plain Connective
Form

Do Ciisy Skal

Go 7+t 7}
Come ot} Qa

Eat Wt} H a1
Drink nulA| T} wlA] 21
Walk 20 Al
Run = ==l
Stand = a1

Sit sy okal

Get up dojutrt dojutar
Sleep PR AFaL

Buy Atk Abar

Sell ) a1
Grow 22 A2} ar
Throw AR 2] 31
Borrow g o} wlg] o
Lend ER s oL
Play = =1l
Write AT} a1l
Read ] elu



Listen = =3
Live Atk A1
Die =t} =1l

Conjugation rule

Take C} off the plain form of verbs, and then attach 11 to them.

5
o JICt— It

The connective form of verbs is used:
1. To list verbs.

2. To link one sentence to the next.

1. To list verbs.

For example, if I wanted to say "I get up, eat and go.", the verb stems are changed to their connective forms
except the last verb which determines the tense of a sentence.

o 2OILICI - 2L0OILID
=Y Y =T
s = )

o 20{LIL2 &0 JICH = get up, eat and go

o L LELD H D UCt= got up, ate and went
o YLD A 2 HCt = will get up, eat and go

In each instance, the last verb determines the tense of a sentence.

2. To link one sentence to the next.
The example below shows how three sentences can be linked together using the connective form of verbs.
o Rcl= & Wl JHR. (Yuri goes to school)

st
o X== FH0llAl =0tK. (Jinsu plays outside)
e 0lLt= M 21 K. (Mina reads a book)

Fole Sl Jtl, == SHillA =1, 0lte 3 UK.
= Yuri goes to school, Jinsu plays outside and Mina reads.



However, the verbs in each sentence can be conjugated into different tenses.

Fele &l 2t K. = Yuri went to school
== SH0llA =H0 K. = Jinsu will play outside
=4

21 K. = Mina reads (or Mina is reading)

o Nl

e OlLt=

Fole Sl 20, M= HoA =HL, 0Ll 2 S0 K.
= Yuri went to school, Jinsu will play outside and Mina is reading.

Example sentences

E.g.

I heard and spoke = & 1) 23U Ch

I studied, revised and taught = S0t ), =50t 1, 2 F CH
I washed and ate dinner. = L= A 10 S 2 S UL

L0 THAE AL 2 OFR. = This shop sells and buys fruit and vegetables.
dao s HUN 9 = I met my friend, had fun and ate lunch together.

e HIJI 21 =0| 21 HHEO0l =20 It M & = It's raining and snowing, the wind is blowing and

the lightning strikes.
o LHLIE2 TVE 21, &2 0lE S

[m]
TV, Suzanne is makmg breakfast and Samson is still in bed.

SO AL, HE2 0HA I

AN 2. = Daniel is watching



Verbs - Can
Cando [E &= UCH

In this lesson, we'll learn about how to conjugate verbs to form 'can' and 'cannot'.

Informal Can do Could do
Weritten sk = b} sk = JATh
Spoken o 2 e 4 A
Informal Can't do Couldn't do
Written g 5 gy g g AT
il X o
Spoken g 4 glo g gl
& 3 2 39

Note: & == QIC} and & = S AL} is more commnly used than R StCt and R M l] in written
Korean. Similarly, & oH and 2 O is more commonly used than & == 10 and & == A A in spoken
Korean.

Conjugation rules
<Written Form>
First of all, take C} off the plain form of verbs.

1. For verbs whose last character has no final consonant, attach 2 == QU C} to them, and for verbs
whose last character has 2 as a final consonant, attach ==  C} to them.

E.g.

e OICt —» & == ULt =cando

o JiCt —» & == ULt =can go

o B0t » = == QULt=cansee

. IPUHQ—“F?;!U—cansleep

e OFAICH — Ot&! == ULt = can drink
o Z2Ilt > EE == Lt =canrun
o =Lt —» = == ULt = can play

o &It — &F == ULt =can live

o Hlt - < == ULt =canfly



2. For verbs whose last character has a final consonant, attach 2 %=  C} to them.

E.g.
o Y[} - HZ = ULt =caneat
o At —» &= == UCLH= can wear
o o[ — &2 = UL =canssit
o &t — &= %= UCH=can catch

Irregular forms

e =Lt > == == UL (can hear)
o 2Lt » Z = = UL (can walk)

<Spoken Form>

Add = in front of the spoken form of positive verbs to express 'can't do' and 'couldn't do.'

E.g.
e 0 —» 2 oll =can'tdo
e 2} - 2 2 =can't come
o Bl —» 2 B} =can't see
e Jt —» 2 Jt =can't go

% =0 = can't hear
e H(H - 2 Y =can't eat
R 20 = couldn't go

I
=
l

2 =AU N = couldn't hear
e HANH — =2 HAUN = couldn't eat

f&l 2= QUCH= A cheetah can run fast.

= 2= UCH= A lark can fly in the sky.
= %= UCH = Solomon can solve a difficult riddle.
20l =X Z == SLC. = A pet cannot enter the museum.

Mk OF
HU
o
MHo 10 ]
Moo

= | can play the guitar.
HE22 2 Y = John can't eat seafood.
o Atet= OtIEA SF W Ofl 2 X = Because Sarah was sick, she couldn't go to school.



X| El = cheetah
2| = fast, quickly
SE M = lark

=Lt =fly

£ Z 2 = Solomon
H 24 & = difficult
2= 7| =riddle
= L} = solve

OH 2t = = = a pet
8r =22t = museum

= 04 JICF = enter

J| &t = guitar

Xl Ct = play (the instrument)
& = John

ol 2 = seafood

At} = Sarah

OFZ C} = sick

Polite Form

While the informal form in the examples above is used by people who are of the same age and/or close, or
when older people are talking to younger people in informal situations, the polite form is commonly used
by younger people addressing older people, and in any formal situations.

Formal Can do Could do

Written & AsUH g A HFUT

Spoken | % %= gl o & lgele

Formal Can't do Couldn't do

Written | ¥ 5 glgUt | @ 4 ddsd
¥ gt % et

Spoken | %% gloje @ & glslole
X e X Jola

Note: The ones in bold characters are more commonly used alternative of the two in each box.

Conjugation rules
1. Informal — Polite (Written)

Replace Ct with S L|C}.

o & = QAL —» & £ JASLICH=can do
o 2 == UL - & = USLICH=can go



= could come
HE &= U/ULCH - 2 HE &= UASLICH= could stand

(@)

2. Informal — Polite (Spoken)

Attach 2 at the end of sentences.

e AN > = UANHKR =cando
2= AN -2 = UANHEK =can go
=3 AN - = = UNH K =can give
o S = UUNH - 22 = UYUAH K = could receive
o St = UUNH - St = UANH K =could go up

Example Sentences

o X|Et= 2| £ £ USLICH= A cheetah can run fast.

e SS M= ot== € &= USLICH= A lark can fly in the sky.

e EZ2=2 HAH2 ==NNIE & &= JUSLIL = Solomon can solve a difficult riddle.
o NHASE2 L2 20U SHZ == ASLICH = A pet cannot enter the museum.

= | can play the guitar.
HE22 R UK = John can't eat seafood.
o Atct= OtIEA St 0fl 2 4 2 = Because Sarah was sick, she couldn't go to school.



Verbs - Have

Have (L C}) / Don't have (2! C}H)

This lesson covers how the verb, "have', is used. It can be expressed in two ways:
o ULt = there is/are (Lit. is present)
e JtX| 1) RULH= have, possess

o ULl = there isn't/aren't (Lit. is not present)
o JtXAI) /UK 2Lt = do not have/possess

Informal Written Have Don't have
Form
UCH S Ct
JFX D ACH IR D YUK &
Ct
OF JFAI 1 AULCH
Informal Spoken Have Don't have
Form
UNA A
IR D UA JEXRI 1 UK 40t
O JIXI 1 YN

Note: The words in bold letters are the more commonly used of the two alternatives in each of the Written
and Spoken forms.

Have (U ChH

QU Ct means 'there is/are', for example:

o ZR0 Z0tX It UALCH= There is a puppy in the garden.
o ZHAL 2104l JHOI It UCH= There's an ant on the desk.

However, QU Ct can also mean 'have'. It is used more frequently than the alternative, 't Xl 11 U Ct', which
is more cumbersome to pronounce.

e Written form — QU CH JFAI 2 JUCH

e Spoken form — A0, It 12 U



Example Sentences

Written Form

e 0| ULt =T1have a book. (Lit. There is a book)
o AlHIJt QUCH =1 have a watch.
e SHEE0| RJULE. =1 have a mobile phone.

e 22 It X 1] ULt =1 have a book.
o SHEZEZS JtAl 1D QUL =1 have a mobile phone.
Spoken Form

o H(0l) AO.
o HEZ(O]) UA.
o AIHI(OF) JUN.

(%)DPII U0
CEE)INALD JUA.

[
r%' i

Note: 1. Use 0|/It with "QUCH'" and S/E with "It X 1 UCH".
2. The particles are usually omitted in spoken Korean.

When you say, 'T have a brother or sister', J} Xl 11 U Ct CANNOT be used because it implies ownership.
Only A C} can be used in relation to people.
For example,

Written Form

o SMO| ULE. =1 have a younger brother.
o O1=MO0| JULE. =1 have a younger sister.
Spoken Form

e &(0l) A O.=1have an older brother.

o S=LI(IH) /. =T1have an older sister.

o HSM(0l) AU . =1have a younger brother.
o O{SM(0l) AUN. =1have a younger sister.

Don't have (21 C}H)
S Ct literally means 'there isn't/aren't'. However, it can also mean 'don't have'

For example,



Written Form
e 2Lt = don't have (Lit. there isn't/aren't)

o JbXI 1D UK S&CHEE IR 2 ALCH= don't have (Liz. don't own/possess)

Spoken Form
e 201 = don't have (Lit. there isn't/aren't)
o JtAI D UK £0HCH ILXI 12 A = don't have (Lit. don't own/possess)

Note: For the negatives, the words in bold letters are the more commonly used of the two alternatives in
each of the Written and Spoken forms.

Example Sentences

Written Form

e ZH0| QIC}. =1 don't have a book.
e Al Dt 8{Ct. =1 don't have a watch.
o SHE 0| Lt =1don't have a mobile phone.

o M= JHAIL] UK &ZCh =1don't have/own a book.
e HEZES JIXI L ol II 2 Ct. =1 don't have/own a mobile phone.
Spoken Form

. 2(0]) gt
o AIHOH 2
o BHEZ(0)) 2

A=) & DRI LD U0,
EE(E) 2 JHALD A,

r%' ]2

Question Form

In spoken Korean, in order to change a sentence into a question, you simply need to raise your tone at the last
letter.

To see how it's done, it'd be probably best to watch a native Korean do it for you. However, as I figure most
of you would not have that kind of luxury, having a native speaker do it for you whenever you want, I
encourage you to listen to the Korean audios or recordings online or watch Korean dramas or movies and
familiarize yourself with the intonation of questions. For excellent free audio and video resources, please try
'"Talk To Me In Korean' (http://www.talktomeinkorean.com/).




&(0l) [ ? = Do you have an older brother?

S LHIH) /JLA? = Do you have an older sister?

=S M (0l) QLM ? = Do you have a younger brother?
0 S 4(0l) QA ? = Do you have a younger sister?

e ZH(0[) 81012 = Don't you have a book?
o AAHI(I1 1 ? = Don't you have a watch?
e BHEZ(0l) 81 ({? = Don't you have a mobile phone?

Polite Form

While the informal form in the examples above is used by people who are of the same age and/or close, or
when older people are talking to younger people in informal situations, the polite form is commonly used
by younger people addressing older people, and in any formal situations.

Polite Written Form Have Don't have
AsY T sy th
ZHA AL dF Y 7FA 3 A 54y
c}

b 7HA AL YT

Polite Spoken Form Have Don't have
slof 2 Rlol 2
AT Qele | AT A ekote

¢ 7HA AL glol 8

I) Informal — Polite (Spoken)

Just add R at the end of a sentence.

~o

? = Do you have an older brother?

27?= Do you have an older sister?

|01 22 = Do you have a younger brother?
U H L2 = Do you have a younger sister?

g0
$0 2
° 20

2 0C 4 og!
g

e O o o
O O £-
0z 0z

g

o M 2101 2?2 = Don't you have a book?
e AlH 81U 2?2 = Don't you have a watch?



[

[ ]
2
I

2 2?2 = Don't you have a mobile phone?

IT) Informal — Polite (Written)
Replace C+ with S L|C}.
o HO| ASLICE =T have a book.

o AlAHJt AJELICE =1 have a watch.
o HEZ 0| JUSLICEH =1 have a mobile phone.

o M= JIXI LD UKl 2Lt =1 don't have/own a book.
o HEZEZ JtAI D UK 2Lt =1 don't have/own a mobile phone.



Verbs - Want

Verbs - Want [~ 4! CH

Informal Present Past
Written Form
Positive 3Fa At koL Aok
Negative st AR &t} | sl AR L
7] 2t} o
sh7] Ao
Informal Spoken Present Past
Form
Positive a1 2l o] 3o A
Negative Sl A A ko) | sFa AA] &k
3171 2ol o}
37 Ao

Note: ot 1) &' X| &2 Ct and Gt7| 44 Ct both mean "I don't want to do." However, In written Korean, 6t 10 &/
Xl 24 C} is more commonly used whereas in spoken Korean, ot 7| &  is more commonly used. St2J| &4 Of
literally means "I hate to do."

The bold letters indicate which one is more commonly used.
Rule

Take C} off a plain form of verbs and attach 1] & Ct/1) A UACHI| &lCH/I| A JCHLD A0/ %0
etc.

Examples (Written Form)

otCh — ot 12 2! Ct =1 want to do.

HCH— 210 AICH=1 want to eat.

=0 — & 10 A ACH=1 wanted to fly.

Sl —» =10 o X & %A CH=1did't want to play.
OFAICH — OFAI 2 &1 K| &2 %L =1 didn't want to drink.

BELFLEDE &1 20 A KT &2 4 CH=1 didn't want to eat a banana.
ots0lA & 7 A X & UACH=1didn't want to fly in the sky.

Examples (Spoken Form)

otCt — ot 1) 2/ 0 = want to do.
AL — A A =1 want to eat.
SR ﬁ'ﬁ(ﬂ = I wanted to fly.
=L — =J1 40 =1 don't want to play.



o OFAICH— OFAID| & A O =1 didn't want to drink.

o HILILF 8 D] &4 =1 don't want to eat a banana.
o Ot= EJ| & A0 =1didn't want to fly in the sky.

Questions (Spoken Form)

e Xt &1 0?=Do you want to sleep?
o . At1) A O4. = Yes, I want to sleep.

o 7 &) 410{? = What do you want to eat?
e M B 1) A4, = want to eat noodles.

e HCl Jt1] 41 01? = Where do you want to go?
o S0 Jt] 4. =1 want to go to a park.

Formal Form

Formal Present Past
Written
Form
Positive st A5yttt 3 AU}
Negative | 31 A X &&Y |3tz AX LPHFUT

o at7] A5

Formal Present Past
Spoken Form
Positive Shal Aloj g sla Ao @
Negative St AR Fola | dFa AR Fgo] e
7] dola 37 Aglol e

Note: The informal spoken form is used between close friends or when older people are talking to younger
people in informal situations. The formal form is used commonly between adults, by people in formal
situations or when younger people are speaking to older people.

Rules
For the formal written form, the suffix , C}, is replaced by & L| C}.
For the formal spoken form, attach £ at the end of a sentence.

Examples (Written Form)

otCt — ot 12 A &LICH=1 want to do.

HCH— A0 A SLICH=T1 want to eat.

g0 — &1 A UASLICH=T wanted to fly.

sU - =10 o X EUASLICH=1did't want to play.
OFAICH — OFAI 2 A1 K| 22 %S LICH=1 didn't want to drink.



Examples (Spoken form)

otCt —» ot] A4 K =1 want to do.

HC— HD) AN HK =1 want to eat.

S0 - 21 AU K =1 wanted to fly.

=0 - =71 4 AN R =1did't want to play.
OFAICH — DFAID] & A 2 =1 didn't want to drink.

More examples

o Xt A K?=Do you want to sleep?
o Ul. Xt A K. = Yes, I want to sleep.

o B &1 A0 2?= What do you want to eat?
e 2t B 1) A K. =1 want to eat noodles.

e HCl Jt1) 401 2?= Where do you want to go?
o S0 Jt) A HR. =1want to go to a park.

In addition:
When talking about a third person, ') &/ O SFCl is used instead of 1) &I Ct, and ') & O o' instead of 12
2 0.

Examples

o JtCH— Jk2 A
e 23= 270
=

5
It 2104 8tC = Luke wants to go to the theatre.
o M0Ol= AtDEFA OF

Al 10 &1 00l = Sunmi wants to drink an apple juice.



Verbs - Descriptive Form I

Verbs - Descriptive Form I

The descriptive form I of verbs takes the meaning of "~ing." (ie. Continuous), or is used as a present tense
clause involving "which, that, who etc.".

Written Form Plain Descriptive I
Positive ==l et g =
Negative =R G A g
The Table of Common Verbs and Their Descriptive Forms I
Written Form Plain Descriptive 1
Run 2t 2=
Eat =R He
Go 7}t V=
Stand Aok A=
Come L°A e
Sit s, o=
Buy Abth AP
Sell o =
Grow Ahet et et
Throw SRR 2=
Borrow Hl 2] o W=
Lend A e
Play = =
Write 2 T} =
Read 9 SR
Listen to = =
Live At A=
Die =T} =

These descriptive forms I are used in front of nouns to describe them, and form a present tense clause



involving "who, which, that" of English. For example, the descriptive form I of J}tC} is Jt= and Jt= J| At
means a "train which goes". Literally, 7} = means "going" therefore Jt= J| X} = a going train.

e Rules

First, take C} off a verb and then,
1.add =

Eg.

o L - H= =cating
o At Y= MOl — a dwarf who eats an apple (= Lit. an apple-eating dwarf)

o B XCH— &A= =sleeping
o LI At= &= — aprincess who sleeps (= Lit. A sleeping princess)

e =[t > == =dying
=L Y

o == YAl — a soldier who is dying (= Lit. a dying soldier)

o 2t — 2X| &= = not believing/unbelieving

o 21| &= E0tA — Thomas who does not believe (= Lit. unbelieving Thomas)

2. Take 2 off a verb with a final consonant, 2 and add =.
Eg.

I} = = selling
It= JHAl — A shop which sells antiques (= Lit. An antique-selling shop)

UH e
o &
l]{tl |

P

— A place where I'm living (= Lit. A living place)

[ ]
= Nz
fr &

Y|

More examples

o AMOIA Ktet= & 21 E = A cactus which grows in the desert (= Lit. A desert-growing cactus)
o LHJt Sl= M2 L 72 SHCE = All the books that I read are informative.



Verbs - Descriptive Form 11

Verbs - Descriptive Form II

The descriptive form II of verbs takes the meaning of "~ed." (ie. past tense) or is used as a past tense clause
involving "who, which, that etc.".

Written Form Plain Descriptive 11
Positive s 94
Negative gy x| o} =1 B CLEC

The Table of Common Verbs and Their Descriptive Forms II

Written Form Plain Descriptive II
Run I=geifet =35
Eat u o u e
Go s s
Stand Ao A
Come L <

Sit ot o
Buy AT s

Sell o} o}
Grow 2} 22k
Throw =] ot Hxl
Borrow o =
Lend IR S
Play =1 =
Werite 2~} =
Read 9t} o] &
Listen to =} o
Live = 2t

Die = =2




Verbs can be used in front of nouns to describe them, and form a past tense clause involving "who, which,
that" of English. For example, the descriptive form II of ( L+Ct is (4 =t and (4 =t J| Xt means a "train which
left". Literally, (0 =t means "left" therefore ([ &t J| X} = a left train

e Rules

First, take C} off a verb and then,

1. For verbs with a final consonant, add 2
Eg.

o Hlt - H2 =ate

o At HE L 0| — a dwarf who ate an apple

o =[t —» =2 =died/dead
— a dead soldier (= a soldier who died)

F— 2 X 22 = disbelieved
| 242 E0tA — Thomas who disbelieved

= read (past tense)
an article that I read

l
i r|o

2. For verbs without a final consonant and verbs with 2 as a final consonant, replace it with - as a
final consonant.

Eg.

o 2Lt —» & &l =borrowed
o &2l M — a book which I borrowed (Lit. a borrowed book)

= the gospel which St. Luke wrote

H =0 — HE = stopped
HAJF 8= =2 = a place where the bus stopped

Sentences: Negatives

e J|Ct2ICH — J|Ct2I K| && = didn't wait
o F=HZ= JIUEIK €2 62 — a servant who didn't wait for the Lord

o ZLJ|GICH —» ZI|GHA Lg*g didn't give up
o2 = Job who didn't give up till the end

Verbs - Spoken Form




The Spoken Form of Verbs

The following dialogue between two close friends involve the informal spoken forms of verbs.

g
o
=

= shopping

2 0 H 2 b~
<
5

P 1/ e BRI 1S I
I
()
=]

Yo

FHl = T'l go first

This dialogue should be easy to comprehend.

CH 3t Al & = The conversation starts
AL X0, S oli?

o.
o T
A28 HO.
&2: 010 Jk?

K. &1 It

AL M DR

X 2:9Al01l.

A2 2?2

N2 2t SEoH.
AL THRLO1?

K20 HRUA.

A2 HENH SSol?

NS M0l JIEH =M.
A2 Ok~ 2h?

N2: 0. 4= 9 ali?
ALl &8 D

X2 AH2

AR 2F 3AI0.

N2 282 HAN?
AU YHAUA. L HH ZAH. & A~
AL & Ji~

Sang-u: Ji-u, what are you doing?
Ji-u: I'm eating.

Sang-u: Where are you going?
Ji-u: I'm going to school.

Sang-u: When are you going?
Ji-u: At 9 o'clock.

Sang-u: Why? [are you going to school?]
Ji-u: I study at school.

Sang-u: Is it fun?

Ji-u: Yes, it's fun.

Sang-u: How do you study?

Ji-u: My teacher teaches me.
Sang-u: Ahh... really?

Ji-u: Yeap. How about you?
Sang-u: I'll go shopping



Ji-u: When?

Sang-u: At 3 o'clock pm.

Ji-u: Did you have a meal?

Sang-u: Yes. I have. I'll go first then. Bye~
Ji-u: Bye~

This is a conversation between Sang-u and Ji-u. This is a type of conversation that is common between close
friends, yet it is extremely simple to understand even for beginners of Korean. So pay attention to how these
"spoken forms' are used.

e A list of written forms and their respective spoken forms.

Written Form - Spoken Form
[For detailed explanation, refer to (Verbs - Present, Past)]

go=JICt - It
come = 2L} - 2t
do = OtC} - ol

eat=HCH-H0

give = =L} - H

receive = 2t - &0t
play = =Ct - =0}

sleep = XtCt - Xt

run= &2|Ct - €
teach=JIEXIC-JIE2X
learn = B K Ct - BH <

These spoken forms are informal so you should only use them with very close friends.



Adverbs - £ Al

Adverbs - £ At

Adjective Present Adverb
Positive At} A
Negative A g X A
A=A

Note: 3 X| & Hl is more commonly used in written Korean while 2+ =3 H| is more common in spoken Korean.
Rules

1. Take C} off an adjective of the present tense and attach H/X| 2 to it.
2. Attach Ot to a positive form of adverbs to turn it into its negative form.

Written Present Adverb
High =t =4, =0l
Low st A
Big At} A
Small (size) | ZFt} ZHA
Spacious 4y Gl
Delicious gkl S
Many g A, %ol
Small At A A
(quantity)
Kind 2ot 8k
Fast k= o w2 7, ke
Slow =gt} =27
Handsome | 93) LA
Note:

Adverbs come just before verbs to describe actions.

X Ct, tik = Ct and = Ct each have two adverbial forms. & 0[, ¥ 2| and = 0| are more commonly used than
Z A, 2 Al and = Al.

Example sentences



L=
H=

=]"
Xl
=
|

(=]
==

AHIOIZE SFUA A UL =1 ate my steak deliciously.
O0l= L2l Al Z =Lt = A tortoise walks slowly

2= Z 0| HRALH=1 ate a big meal. (Liz. I ate a meal a lot.)

& Ol & 2| JFAH = Let's go home quickly!
Har= Z2SENA &e| E ALt = Cheol-su ran fast to the finish line.
f= HAOIAE AA 2= AL = Seong-u made a large cake. (Liz. Seong-u made his cake big.)

=0| Lt= MIt 22| 2Ct = The higher a bird flies, the farther it sees. (Liz. A bird which flies high

sees afar.)



Particles - JHl /0l Al /St E

Particles - /0l H|/8tEll [Dative Particle]

The dative particle, 0l Hl/SHH, is mainly used for someone/something to whom you are giving something. JH|
is a honorific form, 0| Hl is a formal form and StH| is an informal form.

Eg. 1
OtH XIH & 22 S Ch = To my father, I gave a present.

OttH Xl = Father

& = = present

C 2| Ct = give (honorific form)
C 2 Tt = gave (honorific form)

Eg.2
Ottt Ol Al & 2 2 E R Ch = To my dad, I gave a present.

Ottt = Dad

& = = present

C 2|t = give (honorific form)
C 2 L} = gave (honorific form)

Eg.3
SLISHH 2= ALt = To older sister, I gave water

YLt = older sister
= = water

=L = give
AL = gave

(2)Z 2 E /0l H A/BHHI M is used when you are receiving something from someone. Again, (2)Z2 2 H is
an honorific form, 8l Hl A is formal and StHI Al is informal.

Eg.1

HSYLZRH &

0
njo

2t 2t Ct = From the president, I received a prize.

Eg.2
AOHIAH AN H X E 2 UCH= From mum, I received a letter

& 0F = mum

H Xl = letter

8rC} = receive

gk A Ch = received

Eg. 2



A C = From older brother, I heard news

nio
uin

(]
o
o

| A A
S = older brother
= news

hear
} = heard

ot

un nin B>
< WL Dl
I



Particles - S £ /=

Particles- S E/2

Use S Z for words that have a final consonant and £ for words that don't. (Exception: Use £ for
words that have = as a final consonant.)

e.g.

E& O Z =by truck

Z F B & = by/with a computer
™ & 2 = by/with pencil

I. 2 2/2 is used for tools/methods/transport with which you do something.

Eg.1
e It 2 B0IE & ULt = With scissors, I cut a paper.
o HEZ )& & 1% Lt = With a pencil, I drew a picture.
o 23 AtgZ ULt = With a bow, I did hunting.

bl = scissors
S0l = paper

X2 L= cut

Z 2L = cut (past)
& = pencil

18 = picture
—_12|Ct = draw
1R Ch = drew

= = bow

AbEf = hunting
otCH=

HCH=did

A &S 6tLF = do hunting

£2 Hel2Z2 =22l 2= 01 T = With his good brain, David beat Goliath.
C2LHISEYU l] By my imagination, I saw the heaven.
2 222 = 1I|E H UL = With its large beak, the gull caught a fish.

= good

012l = head (brain)
=cl| 2 = Goliath
0l 7|1 Ct = win/beat
A AF = imagination
& = = heaven

S =see

2 UL = saw



Z0HJ| =a gull
2 = big, large
£ 2| = beak

= J| =fish

& Ct = catch

& ULH= caught

Eg. 3
e HIEII2 &0l 2Ct= By aplane, I went to an island.
o XtZ St tAl 1 A2+ Z &l Tt = By car, it takes an hour to school.
o KTXZ MEB0IA 24Xl 3AI2F Z 2l C = By KTX, it takes 3 hours to go from Seoul to Busan.

HledJ| = plane

& = island
JHCH=go

2t Ch = went
Xt = car

st 1) = school
Al2F = hour

& 2| C = take (time)
& 2l Ct = take (time)
KTX = Korea Train Express

II. 2 £/Z is used for a destination/place for which you are headed.

& =22 2t =1 am headed for the heaven

H=2Z2 S0 Jt= & = a door for entering the heaven
L20le 2222 [{ % 2 = Naomi left for Moab
a2 &2 UCH=Jim went home.

The difference between 2 £/ and 0l/H| is that 2 &£/2 emphasises where one is headed/has gone whereas
Ol/ Al doesn't.

Lt= & 22 4Lt =1 went home. (I didn't go to any other place.)



Particles - 0l A, 7t Xl [From, to; at/in]

Ol A, Dt Xl [From, to]
Ol A and Dt Xl are used after places/times just like "from" and "to" in English.

Example sentences

o ZOIA &Kl = From home to school
. lAl 0l A 2AI DXl = From 1pm to 2pm

o = 0UA 2t =1 came from England

. & ALKl 224 L =1 climbed up to the summit of the mountain.
o YKl =0t 2t = Come back by evening

& = = England
A A A = mountain summit
XS = evening

Ol A [At/in]
0ll A is used after places to mean that something is happening at a particular place.

Example sentences

e SOl Ol& =7 E ULt = At school, we played American football.
o UAMIUA == HAUCH= At a Japanese restaurant, I ate sushi.

o SAUAMHHESD ’é" = & Ct = In a park, we played badminton.

o BN SFE ULt = In my room, I studied.

o StE AN A AP E L = In the bathroom, I had a shower.

= ? American football

° =2
|| ™ 4
I
—y
o
o]
(]
=
(@]
w2
o
=
[¢]
w2
7}
o
[
=
o
=
=3

sushi
park
= badminton

3
5

study (noun)

U Ct = studied

= bathroom/toilet

shower

U Ct = had a shower (Lit. did a shower)

OH OB OF 5= OH bohr U

0400441 4T 1 [N Mo T > >

AT T rU I

= =t

Note: In spoken Korean, £/= is usually omitted.

For example:

2SR 2

SH
AFRIZ RCH— AR R
HES ATt - K

(I studied)
( I had a shower)
H A} (I had dinner)



Particles - B} [only]

OF [Only Particle]

Ot essentially means "only" and it is used after a noun. Sometimes, 2 %! is used before a noun to emphasize
the "only-ness."

o Lt [ % CE = Only I left.
o Otit 2 TVE 2 & Ch = Only Dad watched TV,
o Z0FO|A AN 2tCt. = Only Ruth came to Israel.

o =0t 04 Ch. =1 drank only water.
AEI2E P58 ML = Stephen bought only shoes.
o QX L}0F HRUCH = Only I ate.
o X Z0t St (HE SR ULt = Only Paul studied Korean.
o @& =0t [[{ GtCh. = Only John left.

OF can be also used for nominalized verbs.(Nouns - Nominalizing Verbs) In this case, 2t 2% C} is attched after
a nominalized verb.

Eg.
o Lt= HI[BF HLH =T1did only eating.
e Z2 1Y SO st=0 S25tJ|2F MLt = Paul, for a week, did only studying Korean.
o SZ2R WA 2 ZLet= K| 8 U CE. = The koala, which I saw at the zoo, did only sleeping.

S22 0 A 2 2Ll = The koala, which I saw at the zoo
For a detailed explanation of the descriptive verb, see (Verbs - Descriptive I)




Possessive - 2|

Possessive - 2
Rule

e Add 2| to a noun. (Note: mainly used in a written form)

Eg.
° L|'+_O,|—>L|-9|=my
° L-|+9|—>L-|9_|=y0ur
e 1+2 — T1°| =his
e JH+ 2 - JHS =her

However, in most spoken Korean, they are simplified for easier pronunciation.
Eg.

Lol — LY

42| — Ul (pronounced LI)

121/H 2 — M, (not commonly used)
5 JH(who) — 5 (whose)

For all possessives, only Li and Ul(LI|) are commonly used in spoken Korean. In most cases 2| is omitted.
Eg.

e My car= U Xt

e Your shoes = 1| &I'& (pronounced L| &1'2)

e Michael's car = 0t 0| 2 2| At S Xt (written form) or 00| 2 Xt (spoken form)

Notice that 2| has been omitted, and Xt & Xt has been simplified to Xt.

o =1 X}OF? (Whose car is it?)
e 0tOIZ (&) (You can either answer by saying Ot0| 2 or 0+0| 2 Xt)

In spoken Korean, 'he/she' or 'his/her' are rarely (almost never) used. Instead, his/her name is addressed as a
subject in a first sentence, and then omitted for sentences following. This is the same for possessive forms.
Instead of 'his/her', 'Michael's/Lisa's' are used.

Eg.

e Lisa's friend1: | At JHEY &KL Ol 8. (Lisa's handbag is really pretty)
e Lisa's friend2: & M2 LE 214 A2 A Ch. (Really? I, too, want to buy that)

Another thing to note is that 1| is attached to a personal name if a noun being possessed is a
group/organisation. (Spoken Form)

e Lisa's friend1: 2l AbUl & &I 34 (Lisa's house is really big)



e Lisa's friend2: 2| AtUl & 1 & 3. (Lisa's school, too, is big)

Note: A school, house, company and country are some of the 'group/organisation' nouns that require U]
attached to a personal name which are being possessive. Any other personal items such as one's bag, car and

so on do not need U attached to a personal name.



Conjunctions - And

Z12l 12 [and]
—12| 1] can only be used between sentences.

Yesterday = O Al

Book = 2

Banana = BtLELE

read = & Ct

read[past] = & ALt
sleep = AtCt slept = DECH

Eg.

o Al = RUCH el 2 FLLh. [Yesterday, read book. And slept.]
o HiLILI= SFRULCEH 12l 1] €L [Banana is delicious. And sweet.]

The two sentences are linked by —12| 1] but they are still separate. To link two or more sentences into one
sentence, please refer to Verbs - Connective.

2}/1t ['and’ for nouns]

@t/1t is used for nouns. Use 2+ after nouns without a final consonant, and 1t for nouns with a final
consonant. Ut/ 2} is only used to join nouns.

Eg.



Conjunctions - But

12 Lt [But]
—124Lt can only be used between sentences.

Book = 24
Banana = HLFLE
read = 2/ Ct
want to read o,
wanted to read = 21 1) A UL ( )
sleep = AtCt slept = BECH

like = ZCl (plain)

like = Z 08t Ct (present) (Verbs - Present/Past)

-9l

Eg.

t. [T wanted to read a book. But I slept.]

o M= 211 AULCH deflh HCH
= SEULEH Ot PE Z 0}t Al & =Ct. [Banana is delicious. But I don't like it]

e HELILE

The two sentences are linked by —124 L} but they are still separate.

~Cll/~XI 8t [But]
To link two or more sentences into one sentence, ~0l or ~X| 2t are used.

e For verbs, add Ol to
e For adjectives, add Ol to

Eg.

e At= — Ab=0l = live but
e 20M=E AUl BU M= = AHCH= It lives in the water but it cannot live on the ground

e HAHAE — Hcd 20l = difficult but
e 230 = HIRI| A 20 MOIRUCH= A foreign language is difficult to learn but it's interesting.

e For verbs and adjectives, add X| 8 to a plain form without C}.
Eg.

o M[} — MI|'3F=w1tebut

e =2 M= MX|0H 2= == 8Lt =1 write words but I cannot read

o &CF— &FX|BF = live but
e 20ME &XBH DU ME = AHCH= It lives in the water but it cannot live on the ground



o HE Lt — & Xl Bt = difficult but
e 2 =UHE= BRIl & XICH THOI UALCH= A foreign language is difficult to learn but it's interesting.



Conjunctions - But [= 0l/0l]

= O/l is frequently used in casual spoken Korean. = 0|/4| means "but"

For example,

Rules

delAe=E & = 0t=d Oleiel= & = 22t =1 know how to do(speak/write/read) Greek but 1
don't know how to do(speak/write/read) Italian.

I
r0

=0, BHEFE OF S0, =1 eat B (cooked rice) but I don't eat side dishes.

0
ro

S 20, 3t&4 2 &0} = The room is spacious but the bathroom is cramped(small).

1. Take C} off a plain form of verbs and attach = (| to it.

Note:

otCt — at=d
JHC - Jt=dl
QL - 2=4
St - =0
OtAICH — OFAI =4
ACH—- A=
ZCh — It=d
20 - 2Z2=0

Take a final consonant, =, off a plain form of verbs and then attach = .

o ALt — OF=0 (know)
o Z(t — Tt=0l (sell)

2. Add Ol to Adjectives - Descriptive form of adjectives.

aCch— 20
A0 —- &20
2L — Jr&d
20— Sl

=l — @220

A - &0
LA — EHE
A2 Ch— X240



Example sentences (spoken form)

e 22 St It WE

22 st IR, =1 go to school today but I don't go to school tomorrow.
o J3IE 2 U=, B0 A2 E3HD
wanted to watch.

F &1 O =1 went to see a movie but there was no movie that |

Wl &0l= 210t U=, XI=2E I HH. = (I/He/She) was small (height) before but (I/He/She) am/is
tall now.
o Ol 24 EJ|0l= AN 20l=0l, HHEL 0 80l &

. = This meal looks delicious but it's not
delicious (at all) after I've tried it.



Conjunctions - Because, So

Conjunctions - Because and So [~Al]
~Al has many usages and "because and so" is one of them.
Rules

e Add Al to a spoken form of the present tense of verbs or adjectives. (Adjectives - Present/Past, Verbs -

Present/Past)
e Ol — oll Al =Because (I) do/ (I) do and so
e JtAl — JbAl = Because (you) go / (you) go and so
e (LI — [ LtM = Because (you) leave / (you) leave and so
e Z0t — Z0t A = Because (I) like / (I) like and so
e HO| — Y0 M =Because (you) eat / (you) eat and so
o &0t — & 0tM = Because (I) catch / (I) catch and so
o W2t — WetA = Because (he's) fast / (he's) fast and so
e =0t —» =0tA = Because (it's) high / (it's) high and so
e &0} — &0t M = Because (she's) small / (she's) small and so
e H — H Al =Because (it's) big/ (it's) big and so

Example Sentences

STS oA 210t 3T
= Because I play basketball, I'm tall.
= I play basketball and so I'm tall.

o St=01 JtM XIZ OI=01l SLCH
e = Because he's gone to Korea, now he's not in America.
e = He's gone to Korea and so he's not in America.

o LIR=HM E0H
e = Because a tree is big, I like it.
e = A tree is big and so I like it.

o t5H0| Z0tM CHEMOI RECH
= Because I like science, I went to college.
= I like science and so I went to college.

20l =0tM LeldlOIe E At& ol OF 8T
= Because the building is high, we have to use an elevator.
= The building is high and so we have to use an elevator.

S 7 = basketball
St= =Korea

0| = = America
LI 2 = tree

bsh = science



tisr =
gl

EO
ol
=

college/university
= building

C|
2|t Ol Ef = elevator

Conjunctions - So [_12H Al ]

A sentence containing ~Al can be divided into two separate sentences and _1cHf A is used to link them.

Example sentences

=2 &Lt e M I10t 3L =1 play basketball. So I'm tall.

gt= 01| DPCP et A K12 0120l 8LCt. = He's gone to Korea. So he's not in America.
Lt = ACH el A £CF. = A tree is big. So I like it.

n, °*O| ZCh M CHEFOl 2ECH =1 like science. So I went to college.

220l =0 el A 2eldOIE S At& ol OF &FCt. = The building is high. So we have to use an
elevator.



Conjunctions - Because [[l & 0]

Conjunctions - Because [ & 0fl ; { LFSHSH, TH 201 CH

[ 2 Ofl is more frequently used in written Korean and ~A{ is favoured in spoken Korean because of its
brevity.

Rules

Take C} off a plain form and past tenses of verbs and adjectives and then attach J| I 2 0fl. (But NOT a
present tense of verbs ie. 8-E+— 8t IH-= 0ff is wrong! St Ct — StJ| IH 2 Ol is right!)

otCt — o+J| i = 0l = Because I do

JtCH — JHJ] =2 0ll = Because I go

ACH— AJ| [ 2 0ll = Because I buy

S0 — 27| 20l = Because I see

HI| — S| [H =0l = Because I eat

Z0totCh — Z0t6t| [H&Z 0l = Because I like
HCH— | [HZ2 0l =Because 1 did

2 CH— ZI| [ Z 0l = Because I went

HACH - HADJ| 2 0fl = Because I ate

AL — 3 J| 20l = Because it's big

&0 — & | [ 2 0ll = Because it's small

80— gJ| lHZ 0l = Because it's hot

&Lt — &1 i =0ll = Because it's cold

o — 'E‘s*jl [ = 0l = Because there is a lot
20— 7| (H = Ol = Because it's long

UL — B AYI| [ = 0fl = Because it's delicious
= UL - =AU IHZ20ll = Because it was high
Ol 88 CH — Ol 88D [ 2 Ol = Because it was pretty
WSO — W) [ 2 0l = Because it was fast
;L - ZMI| =20l = Because it was strong

Example sentences
- Compare and contrast [} 2 0l and ~Al.

e S3AlE £0tot)| =20l =
food. (Written Korean)

e S=34 £E0tot)| 20 ==34 HUNH K. =Because I like Chinese food, I ate Chinese food.
(Spoken Korean)

e S48 Z0toHA S=224 HAUNHEK = Because I like Chinese food, I ate Chinese food. (Spoken
Korean) Conjunctions - Because, So

o Ot LR SHIE JHD| (HZ2 0l €& 2 %ECH = Because I go to school early in the morning, I got

up early.
o Ot X i‘ﬂ JtA 22 25 2 = Becaus ¢ I go to school early in the morning, I got up early.
e HElU= &I =20 AtEFE=2 et = & =L = Because the winter is cold, people wear

warmclothes.
o HENW FAM AIHS2 et 22 2UHR

Because the winter is cold, people wear warm



Note:

clothes.

CIHYNl= &= 2t EI| 20 A2 A=Kl &40 0F 8tCH = Because on the internet,
there is a lot of false information, we should be careful about what we read.

Ol Ul 2= S} ZOtA & A=K ZAI6H0F &l 2. = Because on the internet, there is a lot

of false information, we should be careful about what we read

The object particle, £/=, is omitted and some words are abbreviated in the spoken form. For example,

ol

- F

S
> r
o |

(eZ]
=

— 3

Although it is less commonly used, a sentence containing two clauses can be divided into two sentences using

HLES
Ol

t™ and [§ 2 OICt. HLEGHH is attached to the front of a second clause and [ & Ol Ct replaces [ 2

S=2SAS AIAULL HLFotH S=54= £0tot)| IH20ICh. =1 ate Chinese food because I like
Chinese food.

So34 HANHKR. (ALIH) S=2=4 £0tof M K. =1 ate Chinese food because I like Chinese
food.

UM AN L HLioHH Otd & st E JtJ| = O0ICh. =1 got up early because I go to school
early in the morning.

EHNAHBAHR. (HLFH) OFE L& st DA K. =1 got up early because I go to school early in
the morning.

Note:

L

=

ot ™ is abbreviated to 2 LF ™ or it is altogether omitted in spoken Korean.

Ol is mainly used in literature and the news reporters use it often. However, people still use [ & 01

occasionally in conversations instead of ~Al, especially when one wants to explain and reason.



Conjunctions - If

Conjunctions - If [~3H/2 ™)

~BH/2 ™ is used after a verb and the clause containing ~2 must always come first and its meaning is "if T do
such and such."

Rules

1. Take C} off a plain verb and add & to it.
o 5ICH — BH2 = If(I) do
e JtCH — It =1If (you) go
e G X|ICt - EXI™H =If (you) throw
2. Take C} off a verb with a final consonant and add © & to it.
o ZC} - ZOM = If(I) like
o HL} - H O™ =1f(you) eat

o MLt - H2™ =1If(I) catch

Eg.

.
]

& 2= QULCH=1IfI go to school, I can study.
ot & 2= ULH=1If you go to med school, you can become a doctor.
O ZH = If you bring (me) a book, I will read (it) to you.

O] Al = doctor
= 2= UL = can become
ZH = book

It 2L} = bring
S CH=read



Conjunctions - When

Conjunctions - When [~S [ ]
® Rules

First, take C off a plain form of verbs(Verbs - Present/Past) then:

1. Add ~2 [ to verbs with a final consonant

HCH - HZ2 ([ = when ] eat
2Lt — 8:* Z ((f = when I sit
9t - 2= [ = when I believe
= - &= [l =when I die

2. Add ~= [ to verbs without a final consonant.

JtCH — & [ = when I go
20 — = [ = when I come
ATt — & [ = when I sleep
ACH— & [ = when I buy

3. Add ~0} to verbs with 2 as a final consonant

o [} —» Z [ =whenIsell
o AL} — & [ =whenl live
o =Lt — % ((H = when I play (muck around)

Eg.
o MY s [ bl 2tCh.

o OIXHOI 2= M =4
gt 0

HA= f‘é T

= When we were eating dinner, the rain came.
NI 2. = When you sit on the chair, be careful.
tCIE L.5. Ct. = When the soldier was dying, he left a message.

e St 2t [ X2 2tCE. = When I go to school, I go by car.

o Z0l = M &7 Z0ll =&lCt. = When I come home, I visit my friend's house.

o 22|= & [l 8= FLt. = When we sleep, we dream.

o ME=SHUHES NE & I #IHO 22 2FCh= When people buy food, they go to a supermarket.

e Take Cl off and add ~= [ to the past tense of verbs

o HAULH - HAUZ [ = when I ate
o AULH - AUS I =when I sat
o UL - LAS [ = when I believed
o SULH - =AUZS [ = when I died
o IULH - EHUAZ [ = when I sold
AQUCH — A QU2 [ = when I lived
= UL > =AU = [ = when I played (mucked around)



Eg.

o A0 &A= I S E BB CE = When I lived in Chicago, I learned English.
o UM =UZ M, E M It ZUCH= When we played outside, the weather was good.

Note:

o ME Z/= [y HIJF & Ct. = When we were eating dinner, the rain came.
o MY S/ =2 [f Ul Dt L. = When we were eating dinner, the rain came.

both 22 M or 2 A2 M can be used and they mean the same thing. This is because the final verb, gt C},
determines the tense of a sentence. The former is a more casual form than the latter.



Conjunctions - While

Conjunctions - While [«(2)X Al |

Rules

1. Take C} off a plain form of verbs with no final consonant and add & Al to it.

otCt — ot ™ M = while doing

It — JHH A = while going

=Lt — =% N = while giving
ACH— AFH A = while buying
St & ':'d M = while watching

2 5tHCH — 25HH Al = while speaking
OtAICH — OFAI'™ Al = while drinking
X — XHH A = while sleeping

2. Take C} off a plain form of verbs with a final consonant and add 2 & Al to it.

S Ch — & 20 A = while eating
2 — 2O 3 Al = while receiving
U - ’;‘é © ™M A = while looking for
210t —» 21 2 ™M M = while reading

Exceptions

Z [ - 2 2% A = while walking
=0t - =2 ™ M = while listening

Example sentences

Written Korean

L= 2= otH A IHEE A S 2L = While doing exercise, | watched Matrix.

L= S eHE S2HAM XI2l S E ULt = While listening to music, I studied geography.

SHeE AHA ZE = UCH = While sleeping, Homer snored.

OIXl= AEHANA EXE H2HAM HIOIE 0L L = At Starbucks, while reading a magazine,
Minji drank coffee.

To= NE B SIALE JHHA 2tCI 2 E =ULE = While going to work by car, Junho listened to

radio.

Spoken Korean

25 otHA IHES A 201, = While doing exercise, I watched Matrix

Ll SEQBA Xl 3 £ 0. = While listening to music, I studied geography.

(20He=) AHM 2 =U0. = While sleeping, Homer snored.

(B Xs) AEEA 01| N &KX 2™ M HI| O3 0. = At Starbucks, while reading a magazine,



Minji drank coffee.
o (E=2=) AtEFLD 3| AF JFHA 2O 2 S A 0. = While going to work by car, Junho listened to radio.

O E& A = Matrix (The movie)

£ 2l = music, song

Xl 2l = geography

S (H = Homer (a male name as in Simpsons)
81 Xl = Minji (a female name)

A B A = Starbucks

& Xl = magazine

H 1| = coffee
2| At = work, company
ctCl L = radio

&3 = Junho (a male name)

Note:

The spoken Korean usually omits a subject because it is usually understood by the speakers as to who they
are talking about. For example, if I were talking about myself, I wouldn't need to use Lt = to say something

about me because it is assumed that I am talking about me.

Likewise, the third person subjects like S H = and 2! X| = can also be omitted when a person being talked
about is already known by people having a conversation.

The object particle, £/=, is omitted in spoken Korean.



SW1H
S5W1H - When, Where, Who, What, How and Why

Note: Please refer to Verbs - Present/Past for the spoken form of verbs.

When, where, who, what, how and why are very useful words to make a question and they are convenient to
use in conversations with friends. Here are some simple sentences. You may hear these this pattern of the
speech a lot from Korean dramas, animations, and people.

To show you how they are used, I've made simple sentences using the verb,"go".

When: A Ml J1? = When do you go? (Lit. when go?)
Where: (i C| J1? = Where do you go?

Who: &It Jt? = Who is going?

What: 5 Jt Jt? = What is going?

How: ({ €Al J1? = How do you go?

Why: 2 J+? = Why do you go?

Note: The subject is usually omitted.
Eg.

e Sam: I will go to school.
e Jenny: A M| Jt? [Here, it would mean "When will you go?']

e Sam: Peter told me that we are going to a museum!
Jenny: A M| J1? [When are we going?]

A Ml 2H? = When do you come?

Qff X ? = Why do you hit me?

o 20?2 =Why do you cry?

5 3? = What do I give to you? or What do you give to me? [Depends on the context]

Honorific Form

While the spoken form above is used between close friends or when older people are talking to younger
people in informal situations. The honorific form is used commonly between adults, by people in formal
situations or when younger people are speaking to older people.

e Just add 2 at the end of a sentence.

When: A H| It 2? = When do you go? (Lit. when go?)
Where: H{ C| It 2? = Where do you go?

Who: = It It 2? = Who is going?

What: 2 Jt Jt 2?2 = What is going?

How: HE A JtR2?= How do you go?

Why: 2l It 2?= Why do you go?



AMl 2t 2?=When do you come?

ff M 2?=Why do you hit me?

ol 2 R?=Why do you cry?

5 3 272 = What do I give to you? or What do you give to me? [Depends on the context]



Comparatives & Superlatives

Comparatives [~ Cl]

~5 [} is used to compare two persons or things. The person/thing that = Cl is referring to is the one that
comes after "~er than" in English. The "~5 C}" phrase can also come before a subject. So the sentences
below have the same meaning.

Note: O|/J} particles are more frequently used than 2/= particles, and in the spoken Korean, almost
exclusively O|/J} are used.

Lt= S 2L I 3 CH =1 am taller than (my) younger sibling.

. Ct

o LHJt SMELH IIIF A CH="I"am taller than (my) younger sibling.

o S I IIIJF 2L =1 am taller than (my) younger sibling.

o S LHIF I1JF H =1 am taller than (my) younger sibling. [spoken form]

o SMELH XML IIJF HEK =1 am taller than (my) younger sibling. [formal spoken form)]

S M 2 Ct = than younger sibling
S & = younger sibling
= height
a £ big
J1Jt ACt = tall
J| Ot & Ct = short
Lh=1
LH = Lt changes to Ul before O]/Jt
Xl = the honorific form of LH used in formal expressions

(4 is usually added before an adjective. (f = more

More examples

220 A0l =5 =55tCH = Man is cleverer than an animal.
Po' 20| Ot0tEZ 20  ZC = The Nile River is longer than the Amazon River.
0| 2l 2Lt Z 6L = Tron is stronger than copper.
Il= 220 &6t = Blood is thicker than water.

[ ]
pal

NSEC M ¥t = Jinsu is faster than Jinho.
| &6l 2 = My older brother does it better than me.
| G Z0}K =1 like rice more than bread.

Superlatives [Xl 2]

M is added before an adjective to make it a superlative.

&l ==J Ml it 2 Ct = Jinsu is the fastest

XIEt =X S22 0l A M it 2 Ch = The cheetah is the fastest among the land animals.
HHlIAAELS AIAHNM HY =Ct = Mt. Everest is the highest mountain in the world.

OO MIAHOA K S _A= S /%' Ol Ct = Pizza is the most delicious food in the world.

M OtECHE A2 AE 0|0 2 = The most beautiful thing is love. [formal spoken form] (Nouns -



Present, Past)

Ml Al = world

OtRULH = delicious

OFU = = delicious [descriptive form] Adjectives - Descriptive
0t = Ch2 = beautiful [descriptive form]
A = thing




Imperatives

Imperatives - o, 5t X| Of

Imperative Positive Negative
Informal 3] 2] )
7} 74 vl
7] o] ) v}
Formal 3l & ARl Q.
7ta 7FA AL Q.
Hol g HAwk e
Honorific SHA & SHA|mRA &
7 8 7HA kA 2
A8 A=A IR=1V5NR

The informal form is used among very close friends or when talking to a younger person who is very close to
you in informal situations.

The formal form and the honorific form are used in formal situations. However, if I were to choose which one
to use, I would choose the honorific form because the formal form is a bit casual-ish. It is safe to use the
honorific form if you are unsure which one to use.

Note: The honorific form of verbs is present in Korean such as:

S CH— S AICH=eat
K — =R AICH=sleep
=0t — S O0tJHAICE = die, pass away

2 's honorific form is = Ml K. It is usually used when talking to people above your age or in formal
situations.

Rules

Informal positive (Imperative) = Present positive (spoken Korean)

off! = Do!
M2l It = Go over there! (Leave me alone!)
Ol ItAt & % 1. = Eat some of these snacks.

=

[
[ ]
[
e =2 & 0+ M. = Drink some water.

Informal negative = Take Ct off a plain form of verbs and attach X| O} to it.

e JtX|OH = Don't go!
e 0| A3t= 2 X0 = Don't watch this movie!
e 0| H= Y XI0F = Don't eat this.



e O] 242 21 X|0f. = Don't read this book.

Formal positive and negative = Attach £ to informal forms

Honorific positive =

1. Take Ct off a plain form of verbs and then attach Ml 2 to verbs without a final consonant.
2. Attach 2 M| K to verbs with a final consonant.

3. For verbs with a final consonant of =2, drop it off and attach Ml 2 to it.

e JtNIR! = Please go!

e O0l2| 2AIK. = Please come here.

o 2| [HLIANIR! = Please leave quickly!

e HM S NIL. = Please eat already.

o =1J| &2 2 H2M R. = Please catch the fish with your hands.
[ ]
[}

r

S E NI R! = Please wave your hands! (£ = C} = wave)
|29 2 S NI R! = Please turn round and round! (= Ct = turn round, spin)

0[1

Honorific negative = Take C off a plain form of verbs and attach X|OtAl 2.

o Xttt GtAl OHAIR! = Please don't fool around!
e X R0ll= JtXl OtMI 2. = Please don't go to that place. (Keep away from that place.)
o 220 U= 2HE2 2HAIKX| OHMI K. = Please don't touch things in the museum.



Have to - o Of

st

Ct

Have to - off OF &tC}

Informal form

Informal Have to Had to
Written g o gt} ok Aok
sflof o} sfoF sk
Spoken 3| oF & 3 oF o]
sl oF 5| 3o o]
Informal Don't have to Didn't have to
Written | 1% &olx #H | 3F% &olx =}
t}
Spoken | 3}A] golx = | 3}A| golk o
Q3 = 5 dA= Fo

Note: The words in bold are the more commonly used alternative of the two in each box.

Rules
1. Attach OF 8tCH/OF & Ct/OF &H/0F S O etc. to the informal spoken form of verbs. Verbs - Present, Past
e ol — ol OF StCt = have to do
e J} — JIOF StCt = have to go
e 2} — 2t0F CF = have to come
o I — BL0F SFCF = have to see
o T — YOt &t =have to eat
e OtA — OFA OF SCt = have to drink

2. Take C} off a plain form of verbs and then attach X| & 0t< E CH/X|l 20t RICHX L O0tE & ete.
to it.

e OICt — OFHAl & PE = Ch = don't have to do

e JtCt — JbXI 20FE ! Ch = don't have to go

e 2Lt > Xl 2 PE = Ct = don't have to come

o Bt —» 22X 20tE & Ct=don't have to see

o H[C} - HX| LOIE & Ct=don't have to eat

o OIAICH > I]MlIl 0t & = C = don't have to drink

3. Attach 2t and & &/ & R Y O to the front and back of the informal spoken form of verbs
respectively. Verbs - Present, Past

e Otoll &= T = don't have to do



OtJt & & = don't have to go
Ot % T = don't have to come
Ot8 & %l = don't have to see
OLH H & TH = don't have to eat
OtOF M & SH = don't have to drink

Example sentences
Written Form
o HBI2 2= MZ01l JtOF = Seong-min has to go to Seoul today.
o OIx== LHEY St 0l JHAl 20t % = Ct. = Min-ju doesn't have to go to school tomorrow.
e 2= HMES0 &E WY 22 & 0F M Ct = Because of her sickness, Ashley had to take (lit.
eat) medicine everyday last year.

etlt. =
2Ot

Spoken Form

o 0| = =RUNAl Jrsf Al &2

e OHZlcl= Ol M CF LIOHA E &0
have go to the hospital.

e VFIIUHR IHRH AHHAH T

LHOF & =T have to finish the science assignment by this Thursday.
OtJtS & = Because Ashley has been healed now, she doesn't

= If the chillies are too spicy, you don't have to eat them.

Formal form

Formal Have to Had to
Written | sloF &t | sloF &Yt
dof g | aloF Baynt
Spoken afjof af & joF dloj .
sfok 5.2 sok Mol &
Formal Don't have to Didn't have to
Written | 3l%] Zol= g | 3R ol H&F
Ug Ut
orsl= Ptk | <ksl= Mk
Spoken | 3] 9olx= 5] | 4] Solr: ol
Q ot = Elo]
otal = H 8

Note: The rules for the conjugation are the same as above.

Example sentences

Written Form

e AMOI

HOl2 2= A20 Jt0F &LICt = Seong-min has to go to Seoul today.



o D= LHEY St 0l JHAl 20t % & LICtH = Min-ju doesn't have to go to school tomorrow.
e Oigl= EH=0 &Y UHO' H=H

ot =2 H O OF SLICH= Because of her sickness, Ashley had to take
(lit. eat) medicine everyday last year.

29

Spoken Form

o 0|81 = SRl Btet 1

—/

FXl 2 LHOF SH K =1 have to finish the science assignment by this
Thursday.

e OH&l2l= Ol Ml Ct LIOtM H& 0l OIS ©H 2 = Because Ashley has been healed now, she doesn't
have go to the hospital.
e UFIIUHR IHRH

OtH O & TH 2 = If the chillies are too spicy, you don't have to eat them.

Source: Learn Korean: LP's Korean Grammar Guide




Allowed to - ol = = C}

Allowed to - ol &= = Ct

Informal Form

Informal are allowed to were allowed to
Written 3 = o} 3| = Ak
Spoken 3 = 5 = F Ao
Informal aren't allowed to weren't allowed to
Weritten st ekE T} ShH Fl Tk
Spoken 3t ots) 3kl okgiglo]
Note:

ol &= % means "allowed to do" and 2o &= T means "don't have to do," NOT "“net-allewed-te-do."' This
needs some explanations.

First of all, &f means "ok or allowed." o &= & literally means "doing is ok." 2o & literally means "not
doing" therefore 2ol &= & literally means "not doing is ok" which means "don't have to do."

o™ CH&H means "not allowed to do." St & literally means "if I do" and 9t means "not ok" therefore Ot
&1 Ot&Y literally means "if T do it, it's not ok" which can be expressed as "not allowed to do"
Compare this with Have to - off OF StC}

However, you don't have to know these explanations to use them. Actually, I've never thought about why
these mean what they mean until today. The best way to learn them is to use them frequently until they
become memorised.

Rules

1. Attach & ECHE K ACHE H/E AN to the positive informal spoken form of verbs Verbs -
Present, Past

e o — o= =} = allowed to do

o Jt — Jt& &L} = allowed to go

o B — B & &I} = allowed to see

e =0 - =X &L} = allowed to hear
o &0 —» HUHE & Ct = allowed to eat

e JtH — OFMH & =l Ch = allowed to drink
e & - &4 & &L} =allowed to run
o 2H0F — 2FOFE = Ch = allowed to sit



e =0t —» =0t% = C = allowed to play/muck around

2a. Take C} off a plain form of verbs without a final consonant and attach & Qt& C}/® OHH ACH
/A LA A to it. (Includes verbs with = as a final consonant)

otCt — ot CHEICH = aren't allowed to do

JtCh — JtH SF Lk = aren't allowed to go

S50 > &5 2tE L = aren't allowed to dance

=t — =™ COHEICt = aren't allowed to play/muck around
UL —» Y™ 2HEICH = aren't allowed to push

S0 — =% Ot L = aren't allowed to spin

=2 —

2b. Take C} off a plain form of verbs with a final consonant and attach @ & QtEIC}/O ™ O /ALH 2

™ OtEH/2 & OHR AN toit.

oI} O1OB OtEIC

—

OC} — OO 04 OLEIL

—

sl ->z2H &L
XCH BOM OtEIC

XLt X OO otElIC
XL — MO0 OtEIC

— -

= aren't allowed to eat

= aren't allowed to sit

= aren't allowed to hide

= aren't allowed to catch
= aren't allowed to pick up
= aren't allowed to fold

- T T T T -

Exceptions
o =Lt - =2™ OLEIC} = aren't allowed to listen
o 2} - 29O ™ OLEC} = aren't allowed to walk

Example sentences
Written form

e FHOA=E H1 A2 22 HH S = Lt = At a buffet (restaurant), people are allowed to eat as
much as they want.

ANE 2 0t Ate2 &80l Ot < & Ct = Those who have finished the exam can go home.

A t* tiM= 3 71| ORI ot QFEICh. = It is not allowed to speak loudly in the library.
MMOtEE2 GEe SAS HOH OtEICh = Infants are not allowed to eat solid food.

ZE D c—’.Mo” ; 2 & AHEHIIE AZEdH T HACH= Until last year, students were allowed to
a stall vending machine.

Spoken form

TV 2t% & = You are allowed to watch TV. (You can watch TV.)

Ol AL HOU & Tl = You are allowed to eat this cake. (You can eat this cake,)
=} €= AtH 2tE = You are not allowed to buy alcohol and tobacco.
HHMMK =0t = AU = Until yesterday, I was allowed to muck around.

the Victoria park.

Formal Form

use

HENK BlEC|OtESR0lE SHIHH AN = Until last year, people were not allowed to enter



Formal

are allowed to

were allowed to

Written = Huyh = HAd5Y
Spoken = H & = Hlola
Formal aren't allowed to | weren't allowed to
Written ShH F Y | A IS YT
Spoken St Qhsl & st QkElRlol e

Note: The rules are the same as above.

Example sentences
Written form

e FHUHA=HI A2 A HAHE SLIC
much as they want.

ANE S 0tz Ate2 &0l Jt< & LICH= Those who have finished the exam can go home.

SEAZUH M= A 0HDIotH = LICE = It is not allowed to speak loudly in the library.
MMOIS2 GUst A2 A2 M OtE LICE = Infants are not allowed to eat solid food.

=S PION ‘%”?;'i ; = DH & IPHjl £ ME T R ASLICH= Until last year, students were allowed to
use a stall vending machine.

= At a buffet (restaurant), people are allowed to eat as

Spoken form

TV 2t& & 2 = You are allowed to watch TV. (You can watch TV.)

Ol ALY HAHE HHR = You are allowed to eat this cake. (You can eat this cake,)

=1 Ei= AFH CHEH 2 = You are not allowed to buy alcohol and tobacco.

HHMMKA =0tE AN K = Until yesterday, I was allowed to muck around.

ZENK B EC|OlSR0l= SHIHHE 2 A0 K = Until last year, people were not allowed to
enter the Victoria park.



Ilike doing - 6t = £CI, ot=Z& £0t

ror

Ct

I like doing - ot =l £C}

ot= 31| Z [} is a contracted form of ot =

2301 ECH(=0l — AH)

of= 2 means "doing" and if you remember, "Jt/0[" is an identifier particle. I'd also like to call it a

specificity particle.

For example,

e Sa0l= MERX He A0

eat at lunch, a sandwich is my choice)

o ANIZ0IA AlE
like living in the country)

Z Cf means two things

e 1.1like
e 2. It's good

Usually, its meaning is "I like doing" in spoken Korean. In written Korean, "ot =
mean "it's good to do something." However, the meaning depends on the context.

Informal Positive

Negative

Written st=A £t}

A A F4
kel F o}

Spoken | 3}EA Fol | okahEA Fol

Formal Positive Negative

Written |34 54U 8K A 5
Ut

Fshal FHU

Spoken st=A ol

814 s Fola
et Foba

Z [} =1 like eating a sandwich at lunch (among a variety of things to

H ZCt =1 like living in the country (Although I could live in the city or urban area, 1

= C" is more likely to

Note: The words in bold are the more commonly used alternatives of the two in each box.

Rules

1. Take C} off a plain form of verbs and then attach =} £ C}

2. If a verb has a final consonant of 2, it is omitted.

e OtCt — St=H Z£Ct =1 like doing, it's good to do
o ULt — HE=AH ZC0 =1 like eating, it's good to eat



2L - B=H £ =1 like watching, it's good to watch
=Lt - == H £ =1 like listening, it's good to listen
20— Z2=H ZC =1 like walking, it's good to walk
ML - M=K £0 =1 like writing, it's good to write
2t — A=A £ =1 like reading, it's good to read
Or=CH — BFE = Z0 =1 like making, it's good to make
&L — At=Hl £C =1 like living, it's good to live

2 Ct — Ot=AH Z£Ct =1 like wrapping, it's good to wrap

Example sentences

o 20t=H £C =1 like exercising. It's good to exercise.
o S20ll= Bt IHU Jt=AH Z£C =1 like going to the beach at weekends. It's good to go to the beach

at weekends.
SRYUE NN =N 0 -

oll=20o

to eat pizza.
e MABT B

4

On a Friday night, I like eating pizza. On a Friday night, it's good

Al

OitA

Ot = When I'm bored, I like watching movies. When you're bored, it's good

to watch movies.

ot=2 is a contracted form of 6t=21 = and = is an object particle.
ot=2& Z0}8tCt just means "I like doing"
Informal Positive Negative
Written st=d Folstth | 3ted FolskA &
&7 dEola
Spoken St ol 3 sh=4d FolshA] ol
e dF o
Formal Positive Negative
Written | =215 FoldY |St=R S FolskAl &
o Sun
57 srEokah )
Spoken st Folal o | sk FolelA] o}
o
s dFolL
Note: Z is a contracted form of =d
Rules are the same as above.
e OtC — ot=2& Z0t+8tCt =1 like doing
o ULt - H=Z Z0t8HL =1 like eating




o Bt —» E=2& Z0t8tLt =1 like watching
e =(t > ==& Z0I8tCt =1 like listening
o 2t —» Z2=2Z Z0I8HCt =1 like walking
o M[Ct —» M=2 Z0}8tCt =1 like writing
o 21Ct —» 2l=2& Z0t8tCt =1 like reading
o OtIS[t — BtE =& Z£0t8tCH =1 like making
o &CH — At=H Z0t8tCt =1 like living
o LCt— Ot=H Z0t8tCt =1 like wrapping
Example sentences
o 2Z0ot=2d= £0t6tAl =0 =1don't like exercising.
o S0l= HXOHM Jt=2& Z0L8HC =1 like going to the beach at weekends.
e 2R 0= LA Y=Z Z£0tELICH= On a Friday night, I like eating pizza.
o MJAIEH HotE =& Z£0tol R = When I'm bored, I like watching movies.



I think - ~1) A4 26} (Opinion)

I think - ~1) 24 2} 6l (Opinion)

) M42F5H is usually used when you are expressing your opinion on something like what people should and
shouldn't do and what people should and should not be allowed to do etc.

Refer to Have to - o O SFCt, Allowed to - 0 = &! Ct and I like doing - St =H £ZC}, 6t=2& Z0I8HC) to
learn following examples.

Rules

Attach 1) 24 25l to the present informal written form of verbs.
eg.

b SHCH) 24 246H = I think we should do it.
26l =1 think it's OK to go to a park.
H ZCt] M 2H6HCEH =1 think it's good to drink milk

[
Note: 12 =1120=, SN =Z20=
Example sentences

o MEO & Xt OrE Ol 22 L 0{LHOF & Ct1) 24215l .= 1 think people should go to bed early at
night and get up early in the morning.

o AZ0oHXID| ?IoH WL THAE 0| HO{0F 8HCHLD A4 2E6H. =1 think people should eat a lot of

fruits and vegetables to become healthy.

TVeE 20| Bt= S CH10 M216H 2 =1 think it's allowable to watch a lot of TV.

A2 =2 OFEICH D M 2E8FL| Ch =1 think it's not acceptable to be late for an appointment

M2 EJ | Sl=H £CH10 M 2E8HCH =1 think it's good to read a lot of books.

Sz e HO| OtAIK Z=H 00 M2 LICH=1 think it's not good to drink a lot of soft

drinks.

-



I think - 6t = H Z 0 (General)

I think - 6t= H & OH (General)

[Verbs]

Written Form Present Past
Positive st= A 2o e A g
Negative A & A | A ¥dd A

2o zo
et A 2 | okld A At

Spoken Form Present Past
Positive st= A el A A o)
Negative st eF= A 7| shAl &%kd A

oH 71—oH
bste A gof | ARE A 2ol

Note: In spoken Korean, 2! is pronounced as 1 for the ease of pronunciation.

Rules

1. Take C} off a plain form of verbs and attach = H 2 0f/X|l &= H Z 0 etc. to it.

2. Drop = off a plain form of verbs that have = as a final consonant.

3. Take C} off a past tense form of verbs and attach & 21 21CHE H 20} etc. to it.

otCt — St= 1 20 =1 think they do
SO — H= H 200 =1 think they eat
LU - 20 L= H 20 =T think they get up

X — IP = H 2 0 =1 think they sleep

2L - E= JH Z 0 =1 think they watch

AT — ’)"JE 4 20 =1 think they wash

=2ttt —» €el= A &0 =1 think they run
=Lt —» == JH Z 0 =1 think they muck around
& Ct — Ab= H Z0H =1 think they live

AT — ME 4 201 =1 think they did

HAUCH — E%*?i'a H 20K = I think they ate

SHCH— 2 H 200 = I think they watched

AULCH - A UE I 204 =1 think they lived

S UL > =UE H Z0H =1 think they mucked around

Example Sentences



i

MIIA AFEHE0| =+ ot=
e Ol M= N JHE Ol Al AU
live in that kennel.

H &0l =1 think people are playing soccer over there.
H & 0 =T think this dog lived in that kennel. = I think this dog used to

KN

o X 2H0il= OLJIJF Xt }= H &2 0 =1 think a baby is sleeping in that room.
o L= =S &2l &tH= ) Z0H =1 think I don't eat (a meal) fast.
[Adjectives]
Written Form Present Past
Positive FS A AT | E=3E A 2
Negative FA 2 A | FA FXIYE A
2o zo
rE2 A A | kst A 2
o}
Spoken Form Present Past
Positive T2 7 Aol | F=3dE A el
Negative FA A F| F=A FUA A
o} ol
dpe A 2ol | dEHA A 2
of
Rules

1. Attach a descriptive form of adjectives to H 2t Of.
2. Take L} off a past tense form of adjectives and attach R & H 2t 0H.

o 2 > £2 H &0 =1 think it's good

o U2 B2 200 =1 think there's a lot

e 2 2 71 210§ =1 think it's big

o &2 A2 JH 20 =1 think it's small

o Ul — 022 H Z0H = I think it's pretty

o 555t - K58 H 200 =1 think he's clever

o =X 5t » &XSH ) 20l =1 think she's honest

o EUL - UG H 20 =1 think it was good

o OFRUULE - BFAAE H & 0 =1 think it was delicious
o JHAUUCH > AU E H 201 =1 think it was fun
o #BLCH— T E I Z0H =1 think it was easy

o UULH - HUH I Z0H =1 think there was a lot

Example sentences

e Ei==A2 U= H &2 0 =1 think Thai food is delicious
& H 2 O = I think this house is enormously big.

M



o Ol =StAIEE2 3L 2 H 1 20 =1 think the maths test was really easy.
e DI M = RI0ll= 201 XU

of flowers on that hill.

KN
N

[Nouns]
Written Present Past
Form
Positive | 1%Fo]dl A @ | moFo|dd A g
t}
Negative | 119Fo]7} oy | a1%ko] 7} of e A
A 2 2
Spoken Present Past
Form
Positive | 1L%F0](Q] ) 72| Lkl e A Zej
o}
Negative | 12%Fo](7}) obd | a2%ko](7h) oly e
7 el 7 2ol

Note: The object particle, J+/0I, is usually omitted in spoken Korean. 2! 71 is also usually omitted.

& Ct's original meaning is "look like." Therefore, 2 Ol phrases can have alternative translations but
essentially they mean the same thing.

e Ot= 1 Z 0 =1 think they're doing. It looks like they're doing.

o 028 O Z0f =1 think it's pretty. It looks pretty.

e X|219124 &0 =1 think it's a chicken. It looks like a chicken (food).
Rules

Attach Q! 21 ZICHQE A 20H2 H Z0H/HE H Z0H to a noun.

ZOLXI(Q! H) &2 0 =1 think it's a puppy (It looks like a puppy)
DOI(C! H) &2 0H =1 think it's a cat

i 32 2 1(2! 2H) Z 0 = I think it's a cuckoo

LES (@] 2H) &2 0 =1 think it's a tree

AHEH(C! H) 20 =1 think it's a person

SF1 (@1 H) 201 =1 think it's a school

Example sentences

{ & 0§ = According to my memory, I think there were a lot



e OIS: 4 4 ==0I X &0I?=Do you know what that animal is?

o = A ALK Z0H. =1 think that is a lion. (That looks like a lion)

o DIS|: AHAF Ot 4 220l S 0| Z0H. =1 don't think that is a lion. I think it's a tiger.

e = )eHI? & N Hel M H X2 =1Isit? Then what is that over there afar?

o DIS|: At 2 Ot H 201 ==02! H Z0H. =1don't think it's a human. I think it's an animal.
o = Z M X|Ct. =1It's a chimpanzee.

o OIS B X| &2 0. =1 thought that was a chimpanzee. (It looked like a chimpanzee)

Note: 2 Ct's past tense is 2 L4 H and so 2 2F0] 2 %01 =1 thought it was a cat.

Formal Forms
Rules

Written Korean = Change C} to SLICt.
Spoken Korean = Attach 2 to the end of a sentence.
eg.

= SA2
Ol Xl <o | X}
HTT © o

0|t 28HA|E

U= A 2ELICH=1 think Thai food is delicious
| 2 4 204K =1 think this house is enormously big.
(m]

=)
o X ot
— O

DQ_ ol >9.

=

& J{ 20 R =1 think the maths test was really easy.

=
LH 2190 N S ®I0lle 2501 EUE H 200 2 = According to my memory, I think there were a
lot of flowers on that hill.

They/he/she think(s) = ~ &

& [}l is a shortened form of 2 Ct 1) of and it is used to express what they/he/she think(s). 2 CH is usually
used in spoken Korean. Attach & to & [ to make it formal.

o SHLIJIOI e M IHE UM &4 S H 2 O = Grandma thinks this dog lived in that kennel. =
Grandma thinks this dog used to live in that kennel.

o Ot N 20l= OFJIJF At A= H 2 U = Mum thinks a baby is sleeping in that room.

o XD U= B2 el H= H 22U R = My friend thinks I eat (a meal) fast.

e Z0| Ei=ZSAI28U= A FIZH Paul thinks Thai food is delicious

o SHMOJIAHUM N & RA0= ZS0] EUAE H 2K = According to my younger (brother/sister)'s
memory, He/she thinks there were a lot of flowers on that hill.

o ZOFXI(Q! IH) &2 T = They/he/she think(s) it's a puppy (It looks like a puppy)
e 2FO[(C! H) 2 R = They/he/she think(s) it's a cat



Are you doing? - ~—= H Of? [Informal]

Are you doing? - ~= HOF?

= HOF is commonly used in situations where you see somebody doing something and you want to ask them
what they are doing. Again, = 71 0Ff can only be used when you are actually watching somebody doing
something, and you want to ask them what they are doing.

o Rule

Take C} off a plain verb and add &= H OF?

otCt — St= AHO

It — Jt= AHO

eitt— ‘é’-l ‘.: HO

2L — 2= H0F? = Are you watching?

ML — & = HOF? = Are you writing?

9 CH — &= HOE? = Are you eating?
OHAICH — UMl H0F? = Are you drinking?

XtCH — Xt= HOF? = Are you sleeping?

S L — E W= HOF? = Are you sending?

Are you doing?
Are you going?
Are you reading?

r)
(7

r)
r)
(7

b
e
b
b
e
b

Eg.

OII

t= HO0F? = Are you working?

=Ml St= H0F? = Are you doing school homework?

| 9= H0F? = Are you having lunch?

Jt= HOE? = Are you going home?

Jt= HOR? = Are you going to church?

tAl= 210F? = Are you drinking water?

2= H0F? = Are you watching a movie?

| A0l A= 2H0F? = Are you writing an essay?

Z A HIAIK 2 L= H0F? = Are you sending a txt message?
HM Xt= HOF? = Are you sleeping already?

02 MO EJ T 02 Jot o
@G@gwm

==

You can add A KM, HCI, I, H, HE A or 2l [when, where, who, what, how or why] in front of ~= A
0F? to make these sentences.

e 7 ot= J10F? = What are you doing?

e % 2= JH0k? = What are you reading?

e 7 2= JH0F? = What are you watching?
o 7 A= J10F? = What are you writing?

o % A= JH0F? = What are you eating?

o 7 DH\l = H 0F? = What are you drinking?
e 3 2= H0? = What are you sending?
e HCl Jt= H0F? = Where are you going?
e =Jt At= HOF? = Who is sleeping?

e It St= HOF? = Who is doing?

e HEH M= JH0F? = How are you writing?



e 2 St= JHOF? = Why are you doing?



Are you doing? - ~A| = H 0| 22 [Polite]

Are you doing? - ~Al = H 0l 72 [Polite]
A& HOlR is commonly used in situations where you want to ask somebody what they're doing.

A= HU K can only used when you're actually seeing somebody doing something, and you want to ask
them what they are doing.

o Rule

Take Cl off a plain verb and add Al= H0IR?

otCt — GtAlE H U R? = Are you doing?

It — JtAlE HOI 2?2 = Are you going?

1l - A2 Al= HOl 2?2 = Are you reading?
S0 - 2AlE HUR? = Are you watching?
ML — MAlE HOUl L2 = Are you writing?

A — EAl= HU KR? = Are you eating?
OtAICH — OtAl= HOIR? = Are you drinking?
M — =2 A= HOUlKR? = Are you sleeping?
SULCH - EWHAI= HOlR? = Are you sending?

Note: Irregular verbs

e ALt - H2 A= HUHK?NOT S+A=HHR2
o NCH— =R A= HUK? NOT MA=HHR2
o ALt - EAl= HU 2?2 NOT HA="HOi K2

Eg.

otAlE= HOl 2?2 = Are you working?

&l S A= HW R? = Are you having lunch?

10l JtAl= H O 22 = Are you going home?

FAlE= 40l 22 = Are you going to church?

2 0tAlE HUW R? = Are you drinking water?

23t EAlE= H0l 22 = Are you watching a movie?

H A0l M AlE= HOIR? = Are you writing an essay?

Z A HIAIK EWHAIE H 0l R? = Are you sending a txt message?
HM =2 A= HUH R? = Are you sleeping already?

0 &J 0 02 ne

You can add A Hl, HCI, =t H, HE A or &l [when, where, who, what, how or why] in front of ~Al = A
0ll 22 to make these sentences.

S StAl= HOIR? = What are you doing?

2 21 © A= H0l 22 = What are you reading?
F 2 Al= HOlR? = What are you watching?
F M Al= HOlR? = What are you writing?

£ S A= HOIR? = What are you eating?



& OtAl= HOll 2?2 = What are you drinking?

F 2WAl= HOIR2? = What are you sending?
HCl JtAlE H0l 2?2 = Where are you going?
It =2 A= HOK?= Who is sleeping?
It otAl= HOIK? = Who is doing?

HEH M Al= HOIR? = How are you writing?
Qff 3tAl= HOIR?= Why are you doing?



Are we doing? - 6t= HOF/ HOUR?

Are we doing? - 5t= HOF/ HUIK?

ot= 10 HOl R? is usually used when you want to ask someone what you (both singular and plural) are
doing, or will be doing immediately.

For example, when you are in a group of people who are doing things as a group, and you want to ask a leader
of the group what you all will be doing.

L2l MI1 Jt= HOR? = Are we going there? [Informal]
f2l M1 Jt= H0l 2?2 = Are we going there? [Polite]

Note: ot= HOF? = Are you/we doing?

HOWEVER, the polite form of "Are you doing?" usually uses "Al = H 0l 22" whereas the polite form of
"Are we doing?" uses "= H O 22"

See Are you doing? - ~— HO0F?, Are you doing? - ~Al= HUHI R?

o Rule

Take Cl off a plain verb and add = HOF/ HOIR?

otCt — ot= 10
It — Jt= AHO
ALt — &= HO
EEP—>¢._ HO

/ HUl 2? = Are we doing?

/ HUl 2?2 = Are we going?

/ HUl 2? = Are we reading?

/ AU R? = Are we watching?

ML - M= H0F/ HOIR? = Are we writing?
At — ‘:H = HOF/ HOU K2 = Are we eating?
OFAICH — DMl = H0F/ HOl R?= Are we drinking?
KT — Xt= HOF/ HOIR? = Are we sleeping?
BUCH - 2WE HO0F/ HU R?= Are we sending?

- T T T vr T

Example Sentences

2 ote HO0l 2?2 = Are (we) exercising?

M2 Jte HOl 2?2 = Are (we) going there?

0l Xt2 Jt= HOU R? = Are (we) going by this car?

0l H &= H0l 2?2 = Are (we) eating this?

0122 9 oy = = HO0IlR? = Are (we) eating with this?

G IPNIDN; ': HOl 22 = Are (we) sleeping here?

Q= M I3t B= HU KR?= Are (we) watching that movie today?
0122 2= HOUlR?= Are (we) watching with this?

You can add A Hl, HCI, =t H, HE A or &l [when, where, who, what, how or why] in front of ~Al = A
0ll 22 to make these sentences.

Q= 22l # ot= HU K?= What are we doing today?
& el= HOl2? = What are (we) reading?

f 2= M0l 2?2 = What are (we) watching?

F M= HO0l 2? = What are (we) writing?



F 9= M0l 22 = What are (we) eating?

S OtAl= HOll 22 = What are (we) drinking?

F 2= HOIlR? = What are (we) sending?

U Cl 2t= H0l 22 = Where are (we) going?
HCOM Xt= H0l 22 = Where are (we) sleeping?
It St HO0l 2?2 = Who is doing?

HEH M= 10l 2?2 = How are (we) writing?

Qlf 3t= HOll 2?2 = Why are (we) doing?

More Example Sentences

o 22| Ll Jt= HOIR? = Where are we going?

o O, XIZ AILHONl Jt= HOI K. = Ah, we're going to the city.

e 0] XtZ Jt= HOU R? = Are (we) going by this car?

o U, HA EtMIR. = Yes, please get in.

o 2 &2 HUl K27?= What will we eat? Verbs - Future [Will]

o AMAIEI HE HOUIKR. AUHIEl Z0t6HMI 2?2 = We will eat spaghetti. Do you like it?
o U, Z0I0H 2. = Yes, I like it.




To do something - ~J| 2| ol

To do something - ~J| 2| 5l
This is the expression used to show that you purpose to do something. For example,
o OtEcte2 et Jt)| ?loll &0l SFE ML = To go to college, Abraham studied hard.
In the sentence above, the reason why Abraham studied hard is because he's purposed to go to college.
o BA Y| o HIAESN =0 2Lt =To eat lunch, we went into the restaurant.
We went into the restaurant because we'd purposed to eat lunch.

Therefore, the clause containing ~J| 2| oHf is the reason for doing something revealed in the rest of the
sentence.

Rules

e Add 2/ 0ol to a nominalized verb. Also see (Nouns - Nominalizing Verbs)

21J] ?oll = To read
M| 2ol = To write
= J| ol = To listen
2G| 2IoH = To speak
ItI| 2ol = To go

2 J| 2ol = To come
2| ?loll = To watch
S| 2ol = To eat
AtI| 2ol = To sleep
€2l | ?/oH = To run
AtJ| 2?1 = To buy
2| 2ol = To sell
A I\ 2l oll = To stand
| 2ol = To sit
ab)| 2ol = To live
=] ?loll = To die

Eg.

o S22 D] o =20 E 22 L. = To read Korean words, I studied Korean.

o A= (alat= 2| 2o == 0l Ch. = To see the Statue of Liberty, we went to New York.
= Z2&ol 2] {101 Bl D] ElI2NZ AT = To go to the Philippines, she bought a flight
ticket.

o RLHUI &=&et 22 AMOHHHLIE 591 ?loil €= U Tt = Ruth, who arrived in Judah, to support her
mother-in-law, she worked. (An excerpt from < 0| 0FJ])

St= = Korean (writing)
St=2({ = Korean (language)
K= 2] O &l &F = The Statue of Liberty



& 2| &l = The Philippines
HIg8J| El 3! = flight ticket
5 Ct = Judah

= = Ruth

A O{H LI = Mother-in-law
& Ch = support

& J| 210l = To support



Try doing - ~0H = Ct

Try doing - ~oif £ Ct

2 Ct means "see" and ~0l £ Cl is a special expression which means "try doing". This expression is used very
commonly in ordinary conversations.

e Rule

Add 2 C} to a spoken form of a verb. (Verbs - Present, Past)

ol £Ct = try doing

Jb 2L = try going

O 2L = try eating

OtM 2Ct = try drinking

10 2Lt = try reading

=0 2L} = try listening

At 2Lt = try buying

20t 2Lt = try sitting

gt 2 L = try seeing/looking/watching
=t 2L = try going up

X 2L} = try playing (the instrument)

The tables below is showing the written and spoken forms, and their respective positive and negative forms.
Remember that the plain form of verbs is the most basic from which many other forms of verbs derive and the
plain form itself is rarely used in both written and spoken Korean. I have omitted the present negatives for
both written and spoken forms because people never use it in this way. Instead of saying, "don't try eating",
people would say, "don't eat" which is & X| Ot. There are two ways of expressing past negatives and one is
more common than the other. "2t~" form is more commonly used.

Factual/Declarative Plain Present Past
(Written)
Positive vjo] 11 | o] Bt | mo] B}
Negative ool Hx] ol B A
&t st
ok o] 3
}
Dialogue/Conversation Plain Present Past
(Spoken)
Positive ojo oj| wof ¥ | o] ol
Negative zlof] 14 %] Ho] B4
or orolo]
& AA
oF ol
2ol




Eg.

= S4/2 Y =Lt = Anna tried eating Chinese food.
S HERZL #HE 21 2L = Charles tried reading Jonathan Edwards' book.

o HIHO SO BtM D2 EZ & AF 2tCh = Because 1 tried eating it before, I tried buying a coconut
again. (Conjunctions - Because, So)

B
=

0l & Ol = in the past, before

£ =again

e 0] SL= =0 B! = Try listening to this music!

o Ol Xt= OtA 2! = Try drinking this tea'

o O] HE0I =ttt 2. 12l FEot= b 2t = Try going up this hill! And try looking at the blue
sky!

o =2 It £t0{? = Tried going to Germany? (= Have you been to Germany?)
o O] 2ciE AT SOt 2 O1? = Tried sitting on this old sofa?
e IOt ™ ZtM?= Tried playing the piano?

Formal Form
Refer to Verbs - Formal [Present, Past]

Eg.
Written Form

9O SLICH= try eating

HO ZSLICH= tried eating

HOH A L ASLICH= haven't tried eating
OF S & SLICH=haven't tried eating

Spoken Form

HNH 2R = try eating

A UL = tried eating

HH 2 LUK = haven't tried eating
Ot O 20 2 = haven't tried eating



Of course, I've done it before - o} 2 &

(Of course), I've done it (before) - (&2 3]) (HH) H2 &
S AHS| = Of course
& 0l = before

ol £t & = I've done it

Usually, when we use off &t &, & H S| and & 0| are implied and omitted. So if I say, "= = off & &," it
means, "(Of course), I've played soccer (before)."

When = 7 ol 2t & is used as a question like "= 7 oH £t & ?", it means, '""You have played soccer before,
haven't you?"

o 2t & is a formal form and of £t X is an informal form.
ol 2t & is a contracted form of ol 2t X| K.

Eg.

i

— off =t Xl. = (Of course), I've played soccer (before). [Informal]
- ol & XI? = You have played soccer (before), haven't you? [Informal]

o =
[

i

Usually, & & form is used as an answer to a question.

Eg.

i

t( 2? = Have you played soccer (before)?
t &% = (Of course), I've played soccer (before).
2t & = (Of course), I haven't played soccer (before).

H
H
+

O oI oI
St Sl gt

A 4

i
4

r

Alternative answers

o (0l), =7 o= R = (Yea), I've played soccer (before).
o (Ot:), 57 2ol Bt R = (No), I haven't played soccer (before).

References: Try doing - oi 2 Ct, It's cold, isn't it? - S X KL?

Rule

Informal present spoken form of verbs + 2t &

Eg.
e Ol 2t = (Of course), I've done it (before)
o T Bt = (Of course), I've tried[eaten] it (before)
o JtE & = (Of course), I've been[gone] there (before)
o AZEtE = (Of course), I've bought it (before)



2 2t & = (Of course), I've tried it on[worn it] (before)
&0t & = (Of course), I've lived there (before)

Example Sentences

Note:

(H 0 2 Xl &2t 2?2 =Have you tried kimchi (before)?

(23l X HOH = L. = (Of course), I've tried kimchi (before).

M2 Jtgt 272 = Have you been to Seoul (before)?

N2 Ittt = (Of course), I've been to Seoul (before).

Ol=0ll A & 0F2t &. = (Of course), I've lived in the States (before).

OFAEH BES =&, = (Of course), I've made pasta (before). [Therefore, I know how to cook pasta.]

U2 It R? You've been to Japan, haven't you?
== 9tJt2 &2 = You haven't been to China, have you?
Jtell ere O = x‘7 = You haven't tried curry before, have you?

HZt=2 0 A CF & OF2t &2 = You've never lived in Ecuador before, have you?

Kimchi is traditional Korean food. It is a hot and spicy pickled cabbage dish.



Give the favour of ~ - ~FC}

Give the favour of ~- ~3=C}

This is an important lesson because ~3= C} is very frequently used in ordinary conversations. First of all, 3= Ct
means "give" and when we attach the spoken form of a verb in front of ==L}, it means someone "gives the
favour of doing something for someone". For example, = 2t Z=Cl means "give the favour of helping to
somebody" which essentially means "I help someone"'.

e Ol

—

(ol

|= H0LE &2 =2A Lt = Min-hee gave the favour of helping to Mom. (Min-hee helped Mom)

In the sentence above, Min-hee helped her Mom and this helping has been done to her and for her. The
concept of giving is profound in the Korean language. In many occasions where somebody does something for
somebody or to somebody, the sentences invariably includes ~3= C}.

o Rule

Attach the spoken form of verbs in front of = C}.

ol ==C} = give the favour of doing

Jb ==Ct = give the favour of going

@t Z=Ct = give the favour of coming

S =Ct = give the favour of eating
Ot A 3=Ct = give the favour of drinking
21§ =Ct = give the favour of reading
M Z=Ct = give the favour of writing

gt ==Lt = give the favour of seeing

= | ==L} = give the favour of listening
Ab Z=Ct = give the favour of buying

2 OF ==Lt = give the favour of selling
Jt2H =L} = give the favour of teaching
& 2t ==Ct = give the favour of helping

Sentences

o S = AMUWDEX 201 It ==RUCt = Young-ho gave (me) the favour of going to town together
(Young-ho went to town with me.)

ALK = town
Z 0| = together

o AU 22| Z 0l 24 =ALt = Elliot gave (us) the favour of coming to our home. (Elliot came to

our house.)
fel =we
& = house

o Li= SHMO| B2 SO =RACH=1 gave my little brother/sister the favour of eating his/her meal. (1 ate
my little brother's/sister's meal for them.)

S A = little sibling (gender neutral)



8} = meal, rice

o IIOIH Y2 R2I0H = 2812 MSHE Jt2 X Z=UCH = Professor Piper gave the favour of
teaching John Calvin's theology to us. (Professor Piper taught us John Calvin's theology.)

w == = professor
& = honorary suffix (usually attached to the name of professions which involve teaching)

For eg. &1 & & = teacher, = At'E = pastor, 1 =& = professor

Alst = theology

o LIOIAH ®XIE &0 T Lt = (someone) gave the favour of reading a letter to me. [(someone) read a
letter to me (for me)]

M X| = letter
Ol Hl = Particles - JHl/0ll Hl/SHE|
! C} = the contracted form of ==Y Ct

e IIH= W L2l E =0 T = Peter gave the favour of listening to my song. [Peter listened to my song for
me. ]

-2 = song
4 01 = the contracted form of 3= 01 (which is the spoken form of == %L Cl)

e HYE OLM M It &2 T H K = Some middle-aged man gave the favour of helping to me (Some
middle-aged man helped me.)

H ™ ~ = some ~ (random, passer-by)

Ot X Ml = middle-aged man (a general term for every married men or men aged between approx. 27~55. On a
side note, some men who are actually young get offended if some children call him Ot X M| because that
means that young man looks older than he actually is.)

H®™ OtZ= 0t = some middle-aged woman

Ot & Ot = a middle-aged woman (a general term for every married women or women aged between approx.
27~55. Again, almost all women who are actually young get offended or even hurt if some people call her Ot
= O because that means that young lady looks old. Let us have some discernment.)

& 0}0l = some child



Would you like to go? - Z'2i 2?

Would you like to go? - 2 i 2°?

~=(2)el 27 is used when you express your desire to do something together with someone, or when you
want someone to do something. So it is similar to "Would you like to do something?/Do you want to do
something?" in English.

o Rule

1. For verbs without a final consonant, add =2 i .

otCt = & e R? = Would you like to do?

ItCH = Z el 2?2 = Would you like to go?

ALCH = &2 22 = Would you like to buy?
OtAICH = Ot &l 2 22 = Would you like to drink?

2. For verbs with a final consonant, add Scii 2.

o Y[} =YHZ2HR?=Would you like to eat?
o OICt= S22 2?2 = Would you like to sit?
o 2/t = 2122 R? = Would you like to read?

Eg.

HIl OH&! el 22 = Would you like to drink coffee?

&4l Y =2 2? = Would you like to eat lunch?

=& 0 20] 2 2? = Would like to go to the cinema together?
& = cinema, theatre
& 4l = lunch, noon

Z 0| = together

Note: If you omit 2 off S(2)2 R, ie. =(2)cHl it becomes an informal form.
HIl Ot&! ell? = Would you like to drink coffee?

& & HZ=eli? = Would you like to eat lunch?
=& 0l 20! Zci?=Would like to go to the cinema together?



Shall we do something? - 22| F &2

Shall we do something? - 22| ¥ & }?
Rules

1. For verbs without a final consonant, attach 2 as a final consonant and add 7.
eg. AtCH — & )2 = Shall we buy?

2. For verbs with a final consonant, attach = J)}.

eg. 2 Ct — & S Dt? = shall we wear?

Irregular
eg. =Lt - SS?

e OCH — & )t? = Shall we do?

e JtCt — Z )2 = Shall we go?

e HCH— & =277 = Shall we eat?

o OFAICH — OFA! F? = Shall we drink?

e B[t — =2 = Shall we watch?

e =Lt — ==71? = Shall we listen to?

e =(t — =))t? = Shall we hang out/muck around?

Example Sentences

o 22| =0[Z& 0l Z7t? = Shall we go to a theme park?

o 22| AEtEH AN A ALl OFAID? = Shall we drink coffee at Starbucks?
o 22| 4 HOH ZNH? = Shall we go have lunch together?

o OHCIEH Fat 22f Zt? = Shall we go watch the Harry Potter movie?
o 22| 20t AT 22 = Shall we go to a gym to exercise?

Note: Attach 2 to 2/= )} to make it formal.

o 22| =0/ 0 ZNtR? = Shall we go to a theme park?

o 22| AEtEHANA AL OFADFR? = Shall we drink coffee at Starbucks?
o 22| B4 HOH ZNHR? = Shall we go have lunch together?

e OHElEH F2t 22 2t R? = Shall we go watch the Harry Potter movie?
o 22| 20t AT 2 R? = Shall we go to a gym to exercise?



It's cold, isn'tit? - S X L7?

It's cold, isn't it? - S X RL?

Kl R is used similarly to "isn't it?" of English. For example, = Ct means "cold", and & Al 2 means "It's cold,
isn't it? or It's cold, eh? or It's cold, right?" This is used when you want to chat up somebody or when you
are looking for a confirmation.

o Rule

Take C} off an adjective and add X| 2 to it.

S — X =1t's cold, isn't it?

80t — 8 X2 =1It's hot, isn't it?

ZCt — 2 X2 = There is a lot, isn't there?
&N — B XK = There is little, isn't there?
=L —» = XK =1t's high, isn't it?

S — 2 X2 =1t's low, isn't it?

ALt —» AKX K =1t's large, isn't it?
&CH— &KX =1t's small, isn't it?

Z[ —» ZXIK =1It's good, isn't it?

LIS CH— LB XI 2 = It's bad, isn't it?
2L — A XK =1t's deep, isn't it?

QFJUCH - S RUKX 2 = 1t's delicious, isn't it?

Z
o
-+
[¢]

: KNI 2 is often contracted to 7t in speech. Therefore AR — S &.

& =1It's cold, isn't it?

& & =1It's hot, isn't it?

& & = There is a lot, isn't there?
& & = There is little, isn't there?
= & = It's high, isn't it?

& =1It's low, isn't it?

£ =1t's large, isn't it?

& & =1It's small, isn't it?

Z & =It's good, isn't it?

LE88 & = It's bad, isn't it?

2 & =1It's very deep, isn't?
QUL =1t's delicious, isn't it?

Sentences

=M OJF & &7 = The weather is cold, isn't it?

EH= & MOt EIH & &? = The weather in Thailand is very hot, isn't it?
Stct4t0l =4 ? = Mount Halla is high, isn't it?

220 Y 2 &2 = The river water is very deep, right?

& 0] & & ? = The house is small, eh?

2 X| JF 8FRJU & ? = Kimchi is delicious, isn't it?



= Ml = weather

El = = Thailand

Stet &k = Mount Halla
2= =river water



Let's do it - of X}

Let's do it - 6} A}

This should be easy to learn. Just replace Ct of a plain verb with Xt to make a phrase, "Let's (verb)". Note:
This is an informal form.

OtCh — Gt AF = Let's do it
HLCF — S Xt = Let's eat
OFAICH — OFAI X = Let's drink
JtCH — JHA = Let's go

& CF— QEXF = Let's sit

B — 2 At = Let's see

S Ct — 2 At = Let's read
MCEH— ML= Let's write
=LCF — = Xk = Let's listen
&2l — &2l At =Let's run
20t — 2 At = Let's walk
ACH— AFXL = Let's buy
ZHCF — 2 XF = Let's sell

Example Sentences

Fel=we
Z 0| = together

o (22l) (20l) = 3tAF = Let's do basketball. (Let's play basketball)
o (22l) (Z0l) Ol Ak H X} = Let's eat a pizza (together)

o (2l) (20l) HUl OFAI Xt = Let's drink coffee (together)

o (221) (20l) BtX It JFAF = Let's go to beach (together)

o (2l) (Z20l) BIXI0fl & Xt = Let's sit on the bench (together)

o (221) (Z0l) G3t 2 Xt = Let's watch a movie (together)

o (R2l) (20l) W ItAl S Xt = Let's read a textbook (together)

o (22l) (20l) Ot0I £ &= E Xt = Let's listen to ipod (together)

o (22l) (Z0l) Al &I'& AFAE = Let's buy new shoes (together)

o (22 (201 M HE 1 Z X} = Let's sell that fridge (together)

The formal form of "Let's (verb)" is exactly the same as that of the formal spoken present form. You may
want to refer to Verbs - Formal [Present, Past] "Please" is implied in the phrase.

ottt — ol @ = (Please.) Let's do it

HCH - HH K = (Please.) Let's eat
OtAICH — OFA R = (Please.) Let's drink
It — It R = (Please.) Let's go

L — S 0LR = (Please.) Let's sit

2L — 2R = (Please.) Let's see



L — 211 2 = (Please.) Let's read
MO — M R = (Please.) Let's write
=Lt > S0 K = (Please.) Let's listen
Seltt > €2 R = (Please.) Let's run
2 —» 2 K = (Please.) Let's walk
ACH— AFR = (Please.) Let's buy
Z(Ch — Z0tR = (Please.) Let's sell

Example Sentences

Fl =we
Z 0| = together

o (22l) (Z0l) =+ ol 2 = [Please] Let's do basketball (Let's play basketball)
o (21) (Z0l) LIXt H O R = [Please] Let's eat a pizza (together)

o (2l) (20l)AHIl OtM R = [Please] Let's drink coffee (together)

e (R21) (Z0l) BRIt Dt R = [Please] Let's go to beach (together)

o (2I) (Z0l) HIXI0l 20K = [Please] Let's sit on the bench (together)

o (R21)(Z0]) 93t 2t = [Please] Let's watch a movie (together)

o (22l) (20l) WAl 31 R = [Please] Let's read a textbook (together)

o (R2l) (&0l) 0t0IZE =0 K = [Please] Let's listen to ipod (together)

o (R21) (Z0l) M Al'Z AR = [Please] Let's buy new shoes (together)

o (R2) (0 M Y& ZO0tR = [Please] Let's sell that fridge (together)



Easy to do / Difficult to do - ~J| & C} / ~J| O & C}

Easy to do / Difficult to do - ~J| & Ct/~J| H&C}

This one is easy to learn. All you need to do is attach a nominalized verb to & Ct or O & Ct to say that
something is easy or difficult.

Written Forms

e otJ| & Lt = easytodo

e O|oiot)| & C = easy to understand
o ZJ| &Lt = easy to solve

e 2| &Lt = easy to see

o =J| &Lt = easy to listen

o 2G| &Lt = easy to say

e JtJ| &Lt =ecasytogo

Spoken Forms

otJ| | = easy to do

Ol oot J| %/ R = easy to understand
ZJ| 2/ % = easy to solve

2| 9 = easy to see

= J| #1# = easy to listen

2SIl £/ = easy to say

JtI| 2| R = easy to go

Written Forms

e OtJ| &L} = difficult to do
e O|OHSHI| O & Ct = difficult to understand
o =J| &Lt = difficult to solve

e 2| HE L} = difficult to see

e =J| { &Lt = difficult to listen

o 2G| &Lt = difficult to say

e JtJ| O & Lt = difficult to go

Spoken Forms

otJ| O H ¢ = difficult to do

Olol 3t 2| 024 < = difficult to understand
=J| A ¥ = difficult to solve

2I| o H R = difficult to see

=] 01 HA ¥ = difficult to listen

2SI O S = difficult to say

JtJ1 Ol ed 9 = difficult to go

Eg.



Ol 2 Ml 2 X = ? = Have you tried solving this problem? [Try doing - oif = C}]
H.0l M= Y ZJ| 4R, = Yes. This problem is really difficult to solve.

fel AL B E‘I JbXF. = Let's go watch a circus.
AES0l R ZO0tA EJ] 0 4R = Because of the crowd, it's difficult to see.

O Xt= O0loHaH) | K H R 2 = It's difficult to understand woman.

OtLIOIR. & XtIF O OIaHGHI| O 4 I 2 = No. Man is more difficult to understand.
12 M2+61 22 = Do you think so?

Ul. 32 D H 201 2. = Yes. I surely do.

M & =2l Nl 22 = Can you hear me?
OlLIR. S A2 20 =21 024 2. = No. Because of the sound of music, it's difficult to hear.

Al IF2H =AM K = please teach me how to do fishing [Give the favour of doing - oif Z=Cf]
el R S A= otJ] 9 R K. = Ok. Fishing is easy to do.

& M| = problem

= L} = solve

= 2O = try solving
A HA = circus

= X} = man

04 Xt = woman

M2t SHCH = think
O A AM2SHCH = think so
& = really, very
£ = very

2 2 = music

x 22| = sound

S Al = fishing



I know how - HE H| St= Xl &0}

I (don't) know how - H E Ji| St=XI & 0t/=2ct

Written I know how to do

I don't know how to do

U}

Form
Informal |o]% 7| 3}=X] ¢t | AAE A }=+] B
t}
Formal |ojw7] 8= | of Wl sh=x] mg

o,

Spoken | I know how to do

I don't know how to do

o].g_

Form
Informal |9 A =2 & | ADA =4 ==
o}
Formal |o]®9A] df=4] & | oJE 7 5= =2}ta

Note: I include the written form of this expression for the sake of completeness. However, please focus on
the spoken form as the expression is mainly used in conversations.

Rules

1.Take C} off a plain form/past tense of verbs and attach = X| 2 O}.
(Exception: For those verbs which contain = as a final consonant, take it off. eg. 2tSCt - 2tE=X

2tohy

2. Attach 2 to & 0}/Z 2} to turn it into a formal form.

HZEH dt=Xl 20t =1know how to do
HEH H=X 20t =1know how to eat
HE A Jt= Xl 20t =1 know how to go
HEH 2=X 20F=1know how to see
HEH ==Xl 0t =1know how to listen
HE A At=dt=RAl £ 0F=1know how to use
HE N ==X L 0F =1 know how to make
HE A =X 0t =1know how to wear

HE A ot=Xl =2t =1don't know how to do

o HEN Jt=Xl et =1don't know how to go

Example sentences



e Z2F0l= AXIMAH HEN CtE=X] L0tR. = Yong-jun knows how to make(cook) kimchi stew.

o "Z=CI0H 2tH HE A 2 O0l=AKl LO0H?" = "Julia! Do you know how to boil(cook) noodle soup?"

o LHJIOI 2 SUIIHEN UK 01201 =20J1JH 0l E0tM 2 S SH EUANH. =Do
you know how I caught this big fish? This fish has good strength and so I caught it with a lot of effort.

e M= UR HEH =X 20tL. =1 know how to plant a tree.

e 0] 2122 HEH AESt=RI Z0t? = Do you know how to use this remote controller?

e 20 HEH Jt=Xl OtMI 22 = Do you know how to go(get) to Seoul?

o 2L HE A Jt=Xl 22t =1 don't know how to go to Busan.
o LEIOl HEH OH=Xl 22t 2. =1don't know how to tie a necktie.
o A0IHKI= 22X HEAH EH=Xl 22 AHIR. = Grandpa doesn't know how to send a text message.

Note: OtAl R and 2 2 Al K are honorific forms of & OF and = ct respectively. Ot Ml 2 and 22 NI K are
only used for second- and third-persons.
For eg,

¢ [ know how to use the subway.

o M ISE OlT 2EL= _

o M XIotE HE N Ol Eot=Xl Z0tR.

e Do you know how to use the subway?
o XIotE HEH OlEot=RI OLAIR?

e He/she already knows how to use the subway.
o ZM XotE HHE N OlEot=X OLMI .



Made/compelled to - ~&] & ~H| S

This phrase has two parts. The first part is ~H| =/ &, and the second part is ~H TH K.

The meaning of "~H| & " is equivalent to "when(ever) or if," and that of "~H| T 2" is equivalent to "am
made/compelled to" or "habitually(usually)."

For example,

o SAITO JtAH &IH, HIEE S =20t H T R = When(ever) I go to a restaurant, I am

made/compelled to order a bibimbap. (I habitually/usually order a bibimbap.)

=& & = arestaurant
JtCh=go
JHA El M = When(if) I go

HI'® &} = a Korean dish (The dish consists of rice with various kinds of vegetables, beef(usually mince), fried
egg, Korean red chili paste and sesame oil.)

== -E— = order (n.)

== otCt = order (v.)

=0t Al T R =TI habitually order

Note: The plain form of | & and & K is '&l CI' which means 'to become.' Therefore, the literal translation of
the sentence above is:

o SAITN JtAH &I, HIEEE =20t T R = When(ever) it becomes that I go to a restaurant, it
becomes that I order b1b1mbap

Also, in the first part when a noun is used instead of a verb, O|/Jt &I & is used instead.
For example,

e OLHOI & H, &IZ

2

o

S Al = Ct = When it is morning, I habitually(usually) read a newspaper

The literal translation of the sentence above is, "When it 'becomes' morning, I 'become' reading a newspaper."

The sentence doesn't make sense grammatically in English but I hope the literal translation will help you get
the nuance of the phrase.

Conjugation rule
Take Cl off a plain form of verbs and attach Hl & M/ O 2 to it.

Ch(do) — Ol Al £/ &H = When(ever) I do
Ch(do) — Gt Al T 2 = I habitually/usually do (or I am made/compelled to do)

OII OII

e Ot Al T 2 = I habitually do



I SR =T habitually go

QA W 2 =1 habitually come
HH TH R =1 habitually eat

XtA ©H 2 = I habitually sleep

L OHA TH R =T habitually speak
Al W 2 = I habitually listen

S W 2 = I habitually watch

Example Sentences

o =2 20| &/™, OO ATE = A THR = When(ever) it is late at night, I habitually eat an
icecream

o It EH ZEHM KEZ N WL = When(ever) it is noon, because I'm tired(sleepy), I
habitually have a nap (Lit. sleep a nap).

o ZFEHC I &H, SUZ2 EH HR = When(ever) I turn on the computer, I habitually listen to
music.
o AMLHEHLIDHAI &I ™, F3tE EH S R = When(ever) I go to town, I habitually go to movies (Lit.

watch movies).

H0

SOt &S, 22 20| OtAI A B 2 = When(ever) I exercise, I habitually drink a lot of water.

Usually

As a side note, when you would like express something that you "usually' do and not what you are
"made/compelled to" do, "= Z " is often used.

For example,

o SAEN JtH, "==2" HIH B2 =Z01 R = When I go to a restaurant, I usually order a bibimbap.

(There is no nuance of being "made/compelled to" order a bibimbap.)

e 20t LIM="F2" 2= ® 0| 0tA R = After exercise, I usually drink a lot of water. (Some
people may not drink a lot of water and other people may not drink water at all but as for me, |
"usually"(whether "I'm made/compelled to" or not, we do not know) drink a lot of water.)

o AILHOI LIDtH =2 L SHE 2R = When I go to town, I usually go to movies. (Lit. watch movies)
e S0l =2 Z2 IR =1 usually walk to school.

e 3IAM0lE =2 X2 IR =1 usually go to work by car.



Addressing People

Addressing friend's name

When a person is addressed Ot/0F is attached to their name. If my name were & [Jin-u], my friend would
call me, &1 2 OF! [Jin-u-ya]. This is like "Hey & /Jin-u!"

This colloquialism should only be used between close friends. This is an informal expression. At school,
friends call each other this way, and teachers to students but not vice versa.

Note that OF is used for names without a final consonant and O} for names with a final consonant.

Eg.
e TS F20H

This is pronounced [ X| == J}:Ji-nu-ga] since © has no sound when used as an initial consonant.

o &l

pal
0

OF!

—

10

It is pronounced [ Xl 5 Of:Ji-nu-ya]
e &35 - H35|0H
o H > EH=0H
o 3g > HLYOH

So when you call your Korean friend's name, just add Ot/OF to their name.



